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CANDIDATES MUST READ THE FOLLOWING INFORMATION/
INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1. Allquestions are compulsory. : : e

2. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be registered
against him / her, in addition to lodging of an FIR with the police. Further the
answer-sheet of such ‘a candidate will not be evalusted. w B

3. Keeping in view the transparency of the examination system, carbonless OMR -7 =¥ el -
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept by gy o
the candidate. : ‘ ‘

4. Question Booklet along with answer key of all the A,B,C and D code will be got -7 -%
uploaded on the university website after the conduct of Entrance Examination. —
In case there is any discrepancy in the Question Booklet/Answer Key, the same '
may be brought to the notice of the Controller of Examination in writing/through
E-Mail within 24 hours of uploading the same on the University Website.
Thereafter, no complaint in any case, will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-
Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

Z gge only Black or Blue BALL POINT PEN of good quality in the OMR Answer-

eet.

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY , REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION.




Questions

; &range Pakistan, ngena Indonesia and Brazil in descendmg order of
their population 81ze

" (1) Brazil-Pakistan-Indonesia- ngena
e ngena-Paklstan-Indonesxa-Brazﬂ
10 Indonesia-Pakistan-Nigeria-Brazil
| (4) - Pakistan-Indonesia-Brazil-Nigeria
mﬁmﬁ TSR, ?@%ﬁmwmﬁmmm%wm@m
@) Wﬂﬁmﬁmﬂ"@m?ﬁﬁm
(2) TERE-TRR-vS R AT
3) TN TR
@) R3S RET-STefia- TR

2. | Arrange USA, China, Brazil and Canada in descending order of their
| geographical area :

(1) USA-China-Brazil-Canada

(2) Canada-China-Brazil-USA

(3) China-USA-Brazil-Canada ‘.

(4) Canada-China-USA-Brazil

4.09.q., ©H, WWW#WW@?%WW#WWI
(1), Z.99.Q.--Si-FT

@) Frer-e-aTo-g.06..

(8) ®IN-Z.TH.U.-Sfd-HereT

(4) FE-HT-7.09. 0. - S
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Q\l;rs;io ' Questions

3. | Which among the following do not associated with social area analysis :

(1) Mackenzie (2) Burgess
(3) Turner (4) Wirth
i & @ A ST A e & e T
@ ¥ @ 4
G @) P
4. | Identify the wrong Match of the following islands :
Oldname | ' New name
(1) SouthSentinellsland - Rani Durgavati Dweep
(2) HavlocIsland — Swaraj Dweep
(3) RossIsland - Netaji Subhas Chandra Bose Dweep
(4) NeilIsland - ShaheedDweep
1) o Ao A9 ~ e gt @Y
(2) s @9 - E
@ W _ el gy o 99 @9
@ Twde - gdfedw

5. | Which two of the following Islands'are divided by Ten degree channel ?
(1) Car Nicobar and Little Andaman g .

2) Little"Ahdamaxi:and South Andaman

(3) Middle Andaman and South Andaman

(4) North Andaman and Middle Andaman

i & & @ @ 2 7 foh & R 49 € 2

(1) FR FEER T WY S (2) Y SIvEHF TN SR SIS

3) WWWWW@)WWWWW

MPH/PHD/URS-EE-2020 (Geography) Code-A
| 2 o




Code-A

Questions

Match the following states of India according to thelr geographlcal area in

square kilometer :

A B

a  Manipur i 22327

b  Meghalaya i 22,429

c Nagaland it 21,081

d M1zoram 4% iv 16,579

Codes: '

(1) a-iv, beiii, e, di @) aii, beiv, ci, difi
@) a-, b, civ, dii @) a-iii, b, c-ii, div

W%ﬁﬂﬁmmw@aﬁm#mﬁmaﬂémm

(%) P e G

| (@) s Ui 22429
(1) e o i 21,081 |
(8) e o
®: |
1) Fiv, G-iii, T-ii, ¥ Q) %-ii, @-iv, i, G-iii
3 . Fi, B-ii, T-iv, Hm (4) &-iii, §-i, -ii, F-iv

PI-I/PHDIU RS—EE—2020 (Geography) Code-A
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Questio:
No.

Questions

g U

Match List-I with List-II and select the correct answer using the codes

given below the list :
List-I et List-IT .
Rivers W - Tributaries
A Brahmaputra - () Hiran
B Yamuna (i) Dibang
C Narmada (iii) Sind
D Cauvery (iv) Shimsa

Codes
A B E
@ @ @ O @
@ @ G O @
@ Gv @) G O
@ @ @ @ W -
@-Iaﬁ@-nagamaamwgeh%ﬁ%ﬁ@amﬂmgwaw

g 0
(%) s G R
(@) g Gi) fai
() & - (iif) e
(@) Fad L s i) R
T P

@ @ 0 @
® @) @ & W
@G DG

1@ v @ @ O

@ O @ G )
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'Questions

estion
No.
8. | Assertion (A) Laterite soils ére generally red in color

Reason (R) Laterite soils are rich in oxides of iron

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanation of A
(® Aistrue butR is false '

(4 Ais false but R is true
aﬁm'(a)mqmmwmtmﬁaﬁ%.

FRT (%) Ve w1 e D SRt F WE e

(1) & 7 % N 7 ¥ OR %, 7 & ot ey B

@ awmﬁaﬁ%@zaaaﬂﬁmaﬁ%

() o U R WY P W B
SORE R CRA G

Cbﬁsider the following statements :

‘Assertion (A) The Plateau of Peninsular India is fringed with narrow coastal

lowlands

Reason (R) Raised beaches and waves cut platforms above the high water
mark signify that these lowlands are essentially the emerged floors of the
seas adjacent to the land ' ey

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanation of A
(8) Aistrue but R is false . . s :
(4) Ais false but R is true , s ,-

P ot ® Rem &t i
W(@)WWWWWW@%@M@N%
W(E)M@memaamhaﬂ%w‘am#m%@w
m%ﬁ%mhahmﬁﬂzﬁh%ﬁm?w%aw%@w%

(1) & 71 % 3N 8 ¥ o %, & o wdt e @

2) & T % A G ¥ M B, o 2w amey L

(@) & 88 Y F WAy

@) & T R W F ad }
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Q“Ifls:.i” - Questions
10. | Match the List-I with List-II and select the correct answer using the
| codes given below lists :
© ListI , List-IT
Mountains/Ranges" - Peaks
A Himalaya (i Sagarmatha
B Aravalli ' (ii) Doda Beta
C Satpura (iii) Dhupgark -
D Nilgiri -  (iv) Mt.Abu
| Codes:

B TSR
@ @ - G G e
@ _Gv) () e
@ @ G O W)
@ oY T e .
-1 1 gA-I1 @ gAf A 7o gRdl @ R R 7T B IWT W FL I IW

T I
i /g - R
(%) feuwE , Q) GrEREET
(@) ommERt (ii) ST T2

(1) wager (i) TS
(a) e (iv) AT o
% T

@ @ @ @
@ @ @ G G
@ Gv) @) G 0
Gy i)y @l o)
@G 9 D @
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11. Match the List-I with List-IT and seléct the correct answer using the
codés given below lists : ;

List-I _ List-II
Industries . Location
| A Steel ; (1) Thal
B Newsprint (ii) Salem
C Heavy water (iii) Nepa Nagar
D Ship building (iv) Mazgaon
Codes ; -

A i B C 3 o 4R |
M @ @ @ ey |
@ @ @ @ G b
@ @ . G @ @
@ @ G & o
W—IW@T—H@mem%mﬁﬁaw@mmmgw

ERA: (i
-1 11
ST Srafeefer
(%) z@m (@)
(@) = Gi) @
(1) R o (i) A1 R
(7) tewr faf (iv) W
b '

® @ @ @ e
O @ @ G @ e |
IR flpe '
® @ @ @ G
@ @ G G @
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Code-A

Question
No.

Quefst,ions

12.

Match the List-I with List;II and select the correct answer usirig the
codes given below the lists :

List-I

Theories/Models
A. Migration
B. Primate city
C. Population rgsources

regions |
B
Codes:

A B C
@ v G @
@ Gv) (i) G
@) @) G @
@. Gy G . V)

-1 ‘

fm-vr/ﬂlsw
(%) s
(@) wmefe @
() SrTEEEr e &
() iR RO
% ¢

@ @ @
@) Gv) | Lo d
@ Gv) G 3G
(3 @) Gii) @
(9 G) G Gv)

D

@)
@
(iv)
@

List-I1
Scholar
() E.A.Ackerman
(i) F.W. Notestein
(ili) Mark Jefferson

Demographic Transition (iv) S.A. Stouffer

gqm@.nagnamw@wﬁm@amm@w

-1
@ § ¢ &N
(i) Th.e=Y. AN
(iii) WS B

' () T TR

(8)
(i)
@
@)
@
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uestion

No Questions

13. | Consider the folloWing statements :

- Assertion (A) DeVeloping countries have high rate of stunted children

Reason (R) There is shortage of nourishment, especially that of balanced
diet in the developing countries ' ‘

(1) Both A and R are correct and R is the correct explanation of A
(2) Bc'h A and R are correct and R is not the correct explanation A
(8) Aistrue but R is false

(4) Aisfalse but Ristrue

e ot ) R iR -

ST (o) bl 2 7 oew (W) a=it @ =7 o€ a2

BRI () feemraeiicr sl & Qoo o F A B, Ry w9 & wgfm Aom 9
(1) & & % aNF 68 B &, o 9 adr e B

@ & T F A G ¥ AR B, o B v ey G 2

() T WY P WS . _

(4) & T 8 Ry F wd &

14. | Match the List-I with List-II and select the correct answer using the
codes given below the lists : : -

List-I e List-IT

Grasslands Regions
A, Prairies (i) South Africa
B Nelde sl (1) Hungary
C. Downs ' , (iii) USA |
D. Pustaz (iv) Australia
Codes:

A B C D
(1) @) . Gv) TOews 6D
@ Gv) G G )
@ .G @D G
@ ) i) @) @ ® -
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Q“§s£° Questions
@.m@.nagammwg@m:ﬁmm@mwmma |
S g |

' ﬁv‘sﬂ-l : @-II

| B W CE]

() ST G) aRr Swhe

(@) == (@) BN

(M) =& (iii) g.0H.C.

(a) gE ) SR
@ @ @

@ @) @) @G @

@) @) G) (i) @)

@ @) G 0 (1)

@ Gy Gy @9 @

15. | Consider the following sta“ements : : '
Assertion (A) Baobab is the dominant tree species of Savana of Africa
Reason (R) Increasing population pressure has caused extensive
deforestation in Africa
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
3 Ais true but R is false
(4) Aisfalsebut R is true
e () TN o & T A RS i.
w(as)a@?ﬁ’mwm%wmﬁﬁﬂmmg%

1) ﬂﬂ%-ﬂﬁﬂﬁ%@?%ﬂﬁﬂﬁm%
@) aaenesaﬁfaa%aﬁtas,aaﬁaamaﬁ%
@) o T E UG T g
il 1 o1 T & WG F W8
- MPH/P

HD/URS-EE-2020 (Geography) Code-A
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Questio

No.

. Questions

16.

Which of the following couhtry is the habitat of the Maasai tribe 7

(1) Nigeria | '(2_) ‘Ghana

3) Brazil . (4 Kenya
ﬁwﬁmﬁﬁﬁﬁﬂm%ﬂmmﬁwm%?
@ widm N, @ @&
(8) Smfiw @ FF

17.

Which of the following is true ?

(1) Confucianism is a religion followed in China
(2) Hinyan isthe branch of Jainism

(3) Islam has the largest followers in the world
4) Protestaﬁt is the branch of Judaism
Frefiee & & i-a1 @8 8 ? o

(1) FrifEEE 99 § eqeRa of §

@ WA e AEmE

(3 T & g B T e g ¥

@ WA aay

18.

(1) English A Chinese

(3)" Hindi (4) Spanish
ﬁmﬁﬁﬁﬂﬁ%ﬁﬁaﬂﬁmmmﬁﬁaﬁﬁw%
1) S @ @

(3)—%?3 Lo b (4) QT

) ’.-{_

Which one of the following is the most spoken language in the world ?

PH/PHD/URS——EE—~2020 (Geography) Code-A
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Q“I‘EI?” Questions

19. | Which of the followirig country is mhab1ted by the Maon tnbe i
(1) Brazi ' (@) Canada '
(38) New Zealand (4) Indonesia
R # @ om-ar 3w & Hei S F1 Faw @ ?
(1) s @) e '
(3 e (@) TERRE

20. | Which country has the highest proportmn of Hindusin its total populatmn"
(1) Sutinam @ W ‘
6)) Népal‘ S (4) India i
maaﬁgaza@mmmwwmma?
oy | o : @) fsh _' ". :
@ .'(4)¢m

21. | Select the correct statement of the followmg

| The barrel shape age sex pyramid diagram reflects the populatlon

characteristics of which type of couiitry ?
(1) Developed country ~ (2) Modetately developed
3) Developing country @ Very poor country
Prefefea & @ @8 FF @ g :
"':wammm-mmmmm%ma mmmaﬂ
e @ 7 : »
(1) forfa 3 . (@) T R
@ Fedw () 9 T A

MPHIPHD/URS—EE—2020 (Geography) Code-A
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Questions
22, Which is the predominant French speaking provmce in Canada :
(1) Ontario (2) Manitoba
(3) Quebec (4) Alberta =
PI-H Bl ¥ T Ha A g f 7
1) RG ' ©@ A
(3) =% (4) ol
23. | Which area (Borough in London is predOmmantly inhabited by South
Asians? | ! '
(1) New Helm (2) Westminister
-(3) Greenwich . (4) Southwark o
o X AR A (TR A g ¥ o o e w7
1) =¥ @ i
(8) =t 4) weyEs
24, | Aperson of mixed European and Indians in Latln America is called a
(1) Mulatto Ciids A2 Mt
3) Meiji Al (4) MauMau
%&Haﬁﬁwﬁmwmﬂwﬁmaﬁaﬁww%
Ol
(3) #Hsf e (4) e 118
25, | Which of the followmg is the sub race of Caucasoid race ?
(1) Mediterranean _ (2) Negrito TR :
(8) Eskimo : ‘ (4) None of the above
P 3 & - 1> os oy B suR 2 7
(1) AfeRFEm : 2 =&
3) T 4) ST ¥ @ P W

\ PH/PHD/URSwEE-—2020 (Geography) Code-A
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Code—A

Question ' :
No. | | Que,ftlons | ‘ e |
26. | Match the List-I with List-II and select the correct answer using the

codes given below the lists :

List-I List-I1
Old name of River New name of River
A. Sutudri @i Jhelum
B. Asikni (i) Chenab
0 Pai'usani : (iii) Ravi
D. ‘Vltasta 408 (iv) Sutlej
Codes ; '

A B C D
1) Gv) G @ @
2 Gv) G G @
(@ ) -Gy Ryt
4) (@) i) G @
@.m@.xmgﬂmmw@mmamw@awmng

w1 g
TR G T T o
(%) 9w & @ & '
(@) offm (i) AT
) e (i)
(@) fwem  (iv) Fage
EE : . -

@ @ 0 @

M v ) @ i
2y Gv) @) @ @

@4y G @ )
@ @)  any o @) Q)

MPH/PHD/URS—EE—2020 (Geography) Code-A
_ (14)




| Code-A |

| @ @

Question 7
No. Questions
27. | Match the List-I with List-IT and select the correct answer using the

codes given below the lists :

List-I List-I1
‘Work . Name of Scholar
Radicalism (i) Julain Wolpart
 Behavioralism (i) William Bunge
Positivism (iii) Ley and Mills
. Post modernism (iv) Auguste Comte
Codes
A B C D
@ G - () G (ii)
@ (v - @ G
(3) (i) (i) @) (iv)
(4) @i @ (iv) (i)
ﬁ-la%@-lmgﬂmqﬁmw@ﬁ%mﬁﬁﬁ@a@mmmng
X G
v AL eI
i = & wm
(®) sk () SR daue
@) RefEuken (i) fafwom &%
qtfsifefass (i) & v ey
(9) o Ak (iv) oIFRE e
T : f ol
@ @ @ @
(L) Gv) - @i B (i1 |
2 G G
(3) @) i) @ (Gv)
@ @) (D)

MPH/PHD/URS-EE-2020 (Geography) Code-A
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Q“ﬁs:h Questioné 4

98. | Match the List-I with List-II and select the correct answer using the
codes given below the lists : :
List-1 List-1I
Books Authors
A. Nature of geography @ LR.Heartshorne
B. A Geographical introduc- (i) L. Febvre

,_ ~ tion to history |
C. Humangeography (i) RH Stoddard
D. Geographyin the’ 0 @dv) G. Taylor
twentieth century
Codes:

A B C D
@ & @ W G
@ O @ 4.
@ @) @ D09 g
@ ® Gv @) Q) g
@-Iﬁq;eﬂ-ll%mg&m ﬁmm@ﬂ%ﬁﬁmﬁwmma

e o gy

-1 gL
(es) TR o R () SO
(@) u R ge g R G o AW
(1) T SRR (iif) aTR C=. e

() W@ﬁaﬁmﬁgﬁ (iv) S W

('%_)‘ (@ @ @
WO 6@ G G
@ O G @ @)
@ @ @ O G
lw o @ @ 6@

G

MPH/PHD/URS—EE—2020 (Geography) Code-A
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Code-A

RQuestion

No. Questions
29. | Which of the followmg approach truly expla1n the statement “Man is a

product of the earth’s surface...

(@) Envuonmental Determinism
(2) Behaviowralism =

(8) Possibilism

(4) Socialism

Predhe Tt 3 & -4t e aﬁtﬁgezﬁa%ﬂasm@w%...,....’q%aa
e B ? , : ,

1) Wﬁ'{”ﬂqﬁﬂw 3 2) 'w'

(3) EHEEE (9 woER

30.

Which of the following is not objective of the behavioral approach ?
(1) To define the cognitivé rénvironment which dete_rmine the decision-

making process

@) To geherate primary data'about human behavior

3) .39 adOpt 1nterdlsc1p11nary approach for theOry bulldmg and problem

solvmg
4) 'None of the 2bove
ﬁwﬁr@aﬁﬁﬁﬁ—mwwm@waﬁf%?
(1) WD aRIEReT S AR S s forg Fafor sfear s FriRer &t @

| (2) 779 FER & IR ¥ yufe ifes Fifa s

(3 WWWWWQQWWW

@ Wﬁﬁ@é:ﬁﬂ

MPI-I/PHD/URS EE-2020 (Geography) Code-A
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Question
No.

Questions =

31. |

@ SR ¥ QA

Who gave the co_;icept of Landschafts Kﬁnde ?
(1) Richoffen

(2) Ritter

(3) Semple '

(4) None of the above

TSR FS W AR e & 2

(1) ReE%

@ R

(3) |7

32,

(3) | G. Taylor

1) 8 ,
(@) ST W
1 @ &

Who said that exact laws can be made oﬁl,y if man is exc;h;ded from
geography, because the ma.\’s behavior is highly unpredictable ?

(1) Saur

@ G.Gerald

4 Huntlngton

Ww%aﬁmmﬁaﬁmm%ﬁ% mmmﬁﬁaﬁmr@rm,
mmwwa@amm%?

4) &

MPH/PHD/URS-EE-2020 (Geography) Code-A
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Code-A

Q“ﬁs;‘i“ Questions
33.

| codes given below the lists :

| A
B.
C

List-I List-IT
Instrument Uses :
Planimetre (1) Tomeasurelengthor dlstance on: maps
Rotametre @) To measure area on maps
Parallax bar (iii) To medsure elevations of obj cts from
: the photos
D. Pantograph (iv) Enlargement and reduction of maps
Codes : ' ‘
A B O g
B ® . g G
@)y @ b o Gy e 7
B @) @y @O W
@ @ (v) @) @)
G-I & ge-11 a@mmw@%mm@@wmmgﬁ
IR G
i g
ST - IgEm
(%) e () =W G & rEr wE AT @ Rie
(@) eriex (i) THRE W &% A9 B R
(1) W SR (iii) Fel & awgell @ $E & 79 & R
() ¥<hme - (iv) AR # R T g § R
% e
() (Gl A aE
W O @ @ G
@ @ wif) )y Gv
G @ity O v /
@ O @@

Match the List-I with List-II and select the correct answer usmg the

PH/PHD/URS~EE—202O (Geography) Code-A

‘ (19)
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Code-A

Questio

No. Questions
34. Which of the following projection is suitable for direction ?
(1) Mercator
(2) Polconic one standard
'(3) Bonne’s projection i *
(4) None of the above
R & @ S sha Rar 3 e St ¥ 7
| @ =
@ e o dued
(8) M & T
@) IH ¥ & & ﬂﬁ

35.

Which of the following is the most ‘suitable method to show distribution

pattern of crops ?

(1) Shading method

(2) Symbol method

(38) Dot method

(4) None of the above
ﬁﬂﬁ@ﬁﬁ@tﬁﬁ-@%ﬁ%mqﬁmﬁaﬁmﬁ%mmmﬁﬁ%?
1) s &

() v fafr

(3) 2R

(4 SR F @ B TS

MPH/PHD/URS—EE—2020 (Geography) Code-A

(20)
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Code-A

Q“ﬁs:im : Questions
'86. | Consider the following statements :
| Assertion (A) Sinusoidal projection may be regarded asa mod1ﬁcat1on of
the cy11ndr1ca1 equidistant projection. :
Reason (R) The main limitation of the cylmdrlcal prOJ jection is the parallel
scale is exaggerated il -G
(1) Both A and R are correct and R is the correct explanation of A
2 Both A and R are correct and R is not the correct explanat’ nof A
(3) A istruebut R is false ‘
(4) Aisfalse but R istrue
it el X e i
%aﬁma( )WW@WWWHWWWWW
|

HROT () BT TAT % ger dr 7€ ¥ B ol weier Y R B
(1) & T % I W& § R %, o W G AT 8
@) awmﬁaﬁ%@wraaﬁaﬁmﬂﬁ%
3) o T T Y F T & |
@) 9 T 3 W F a8 3

317.

Match the Llst-l with List-IT and select the correct answer using the
codes glvexﬁ)elow the lists : : .

Voanl Bisgd o o LiStYE T
e - Isopieth maps 63 Natural grouputg
LB Dotmaps (i) Wind direction
| C. Scatter groups (i11) Changes which are relat1ve1y gradual
D. Stardiagrams (iv) Population distribution
Codes: :

A B C D _ |
@ O @ G G O
@ G © G G e
@ G ARG - Gy W e grit
CR e e e e ol
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Q“§5£° Questions
@-Iaﬁ@-ll%wgﬁﬁﬁmmqﬁﬁ%ﬁﬁﬁﬂq@wmmgt
g I
(%) T A () S
(@) o G A R
(m) seRRia W (1) o Red oREg T ¥
(9) oww eRE (i) SIEEH T
o " '

@ (@ @ ©
@ 6 @ G @)
@m0 @ ®
@ @ @ @
@ 6O G @ @

e

- 88. | Match the List-I with List-II and select the correct answer using t
' codes given below the lists : : : '

List-1 List-II

' Nayigation.systefn - Country name
A. GLONASS () OChinese |
B. Galileo - (i) Russian
C. Beidou (i) Framaht .
D.

NAVIC (iv) Indian

MPH/PHD/URS-EE-2020 (Geography) Code-A |
| - - (22) | .
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“lf‘.it.iw : Q_uesfions

| Codes:

£ PR e L

1 @ @ G i)

@ G @ i) (v)

@ @ @ 6@ G

@ @ @) G (@) |
W-I@WW-HWWW‘WW%ﬁ@W@wWWg
Tl SR gy - -

R -1
AR o &

(%) =g G @

(@) i @) &

(m 3} (i) g :

@) )

%e - .

® @ @ @

D6 @ G 6

(2 @) @ () (Gv)

3 (ii) @) @ v

@ @ @) - @) (@Gv)

MPH/PHD/URS-EE-2020 (Geogr
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No.

Questio Questions

List-I
Satellite
RISAT
Cartosat 2
Megha tropics
IRS P5
Codes

o e

@-Iaﬁ@-n%amgﬂm
& T P

gEl-1

codes given below the lists :

A s; o o @ LEE
W 6@ @ @ (i)
@ @) @ @ @
@ @) G @ @
@ @ @ @)

i?_‘ D

) e e
O O @ s
@ G O @ @
@ @ G @ O
@ ® @ @

39. | Match the List-I with List-II and select the correct answer using the

List-11
Spatial resolution

@ 2.6m |
(i) 40 km x 60 km
(m)<2mt056m
Gv) <1m

“w‘gﬁﬁ%ﬁ%ﬁmﬁmmﬁ

gl
v I
G) 2.6
@Gi) 40 Bl x 60 et

.(m)<2ﬂ’f% 50 M.

(1v) <t 'ﬂ
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Q“ﬁo. & Questions |
40. | Which of the following is the ‘waveiength range of the visible light ?

(1) 750 nm —400 nm (2) 2.5 pm - 750 nm
3) 25pum-—2.5um 4 1mm-25um

Frefaied § Q@ PE-A1 3 THIT H AR W 2 7

(1) 750 F.5. — 400 7.4 @) 2.5 wh. - 7650 X4

1.3 25 pst.—2.5 pt. (4) 1FH. - 25u9.
41. | Innearest neighbor analysis R value varies between 0 to 2.15 Which value
of R represent the maximum aggregation of all points(settlements).
@D 0 ' (2) 0tol
3 1215 , @ 216
ﬁw@mWRwﬁoﬁzwéﬁqﬁaﬁam%lmeﬂmwﬁ
Rrgel (Aeiteg) % St T 1 e e 8 7
1 0 : 2) Otol
(3) 1-2.15 (@) 2.15
42. | Which one of the following method is used to measure inequality ?
' ‘(1) Weaver method | (2) Chisquare test ‘
1 @A3) - ‘Lorenz curve (4) Doi method - : ‘
mmaaﬁa—mmwmm%w%mam%?
(1) 9 F @) @ i ale
3) WS =% @) <% R
43. | Which one is not network analysis method ?
1) Alpha‘ index - (2) Gammaindex
(3) Eta index (4) Satty mdex
A9-d Yead R Ry T B 7
(1) o Wﬁi & i (2) ™ qaasﬁs
@ wmEEs @ g o

MPHIPHDIURS—EE—2020 (Geography) Code-A
| (25) :
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44.

Question :
No. Questions
Which one of the following is Cyclomatic number formula of networ]

analysis? ;
(1) E-Vip2 (2) E-p+V

38 E-Vip. (4) P-E+V
P & -1 e R B WS Ve g ¥
(1) E-V4p2 ‘ O B st
@ BV @) P-E+V
45. | Which one of the scholar do not associated mth Principal componer
analysis ? &
(1) Mooser and Scott ® Thompéon
(3) Soja "~ (4) Morrison
-1 REF TE g% R @ M g T8 e 7
(1) T @ @ dw
@ @) o
'46. | Which one of the foﬁomng is not samphug method ?

1) Stratxﬁed (2) Random

(3) Probability (4) ‘Dual system method |
R & - R R 8 8 7 ’

(1) & @) s

@ s @ o R

MPHIPHD/U RS-EE-2020 (Geography) Code-A
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Question
No.

. Questions

47.

Which one of the following do not reflect the types of correlation ?

(1) Positive or negative correlation

(2) Normal correlation

(3) Partial correlation

(4) Linear or non-hnear correlation

ﬁﬂhﬁ:ﬂﬁ%ﬂ%ﬂ-ﬂtwa‘omﬁﬁaﬁm%?

(1) oSS ﬂT TS QB

) WW |
@) iR e
@ W w0 -few wewa

48,

Which one is associatéd" with the use of t-test ?
(1) When sample size is 30 or les‘;s

(2) When sample size is 30- 40,

(3) When sample size is 40- 50

@ None of the above e '

B-ar AT & a3 A wEE § 7

(1) o frest TR 30 a1 A B

@ ™ fredt TR 30-40 2
| @ v Fret TR 40-50 &

@) ST A B
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No.
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49.

What is a null hypothesis ? 51

(1) That there is significant difference between specified populations

(2) That there is no significant difference between sp_e‘ciﬁed populations
any observed difference being due to sampling or experimental erre

(3) It does not specify any relation between gpec‘iﬁed populations

(4) None of the above | ‘

R S F 8

(1)'qsﬁﬁﬁemﬁmaﬁ%aa@amm%l .

@) w%ﬁﬁwmﬁ%mﬂimwaﬁ%ﬁémm
ST 3R B PR 8

@) usﬁﬁﬁamﬁaﬂﬁmﬂ%mﬁﬁzaﬁm

) S & | B8

50.

Which of the following reflect the significance of normal distribution ?

1) To approadmate of “fit” a distribution of measurement under cert:
conditions o ! ,

@ To approximate the binomial distribution and other discrete
continuous probability : ‘ ‘

@3 To approximate the distribution of means and p_ertain others quanti
calculated from samples, especially large samples

(4) All the above G

mmmﬁam-mwmmmﬂm% :

) WM%WW%WQ‘W'%W%M

@) mm%mmmﬁm%m'mmmf
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Question
No.

Questions

51.

What was the outcome of Kyoto protocol ?

(1) It was an international environmental summit to discuss ways and
means to reduce the green house gases emission especially the CO,

(2) Developed countries failed to pledge to reduce their CO, emission by
. 6-8% of their level in 1991 by 2012 _

(3) USA and Russia refused to sign the document, citing it discriminatory
since India and China were exempted from any obligation

(4) All the above

FIS AP B FT GRAT oy ? , '

(1) 38 30 &ed A4, Rda: CO, 3 IToH & FH W 3 ada o gt W a4t
FY & R O SRS Qi R e o1

(2) faefta 3w 2012 % 1991 & & CO mﬁa%maﬁs-mmmmaﬁ
it & F fawa @

(3) HYF ToY R U &Y I 9 A A7 A el it TR A @ @9 B W
wmﬁﬂmﬁgmﬁawmm%mmm

(4) I TR

52.

“Buttress of roots” is pheﬁomena observed in which of the natural areas :

63.

(1) Steppes it (2) Temperate forest

(8) Tundrabiome (4) Tropical ralfbrest_bidme
“STEt H wERr”’ m@aawmm%

1) = . 2 Mo 3=

@) T e (@) SvERTHy sl shaqveg
‘Which area is not ecelogical hot spot among the following ?
(i) Satpura plateau (2) Eastern Himalaya_

3) Indo-Burmaregion - (4) Western ghats
ﬁﬁhﬁﬁﬁ@ﬂ?—mﬁﬁmmmﬂﬁ%7

(1) g wR @ o R

(3) WRa-Tt &= (4) iErf o

MPH/PHD/URS-EE-2020 (Geography) Code-A

(29)



A

FEe P

o

/———————_'—_____-—

Code-A

Q“§S:i° Questions

54. | Match the List-I with List-IT and select the correct answer using the
codes given below the lists :

List-1 List-II
National park States

(A) Bandipur national park @) Kerala

(B) Kaeladeo Ghana national park . (i) Karnataka

(C) KanhaNationalpark .. ' (i) Rajasthan

(D) Periyar national park - o (iv) Madhya Pradesh

Codes:
Fiks s T v
Q @ G Gv) @)
@ G -G v @
@ G G @ O
@ 6 Gv G) G | | |
@-Iaﬁt@-ll%mgﬁamm@ﬂ%m&&mﬁgmmmgq

T SR W g9 B
-1 g1l
T S LU
() G T AN @
(@) FawiRa °F TS I (i) #ieH
() @ A I . (i) TN
| (a) YRar T FE -.'(1V)Wm

o O G Gv) G
@ @ @ @ O
@ @ @ @ O
lw ® G @) @)

MPH/PHD/URS—EE-—ZOZO (Geography) Code-A
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Q“ﬁ?“ Questions
55.

What was the ﬁnal documents mgned at the Earth summit held in Rio-de
Janerioin 1992 ? '

1) Agenda 21 (2) Convention on Nuclear energy
(3) Declaration on air pollution (4) None of the above

1992 ¥ RA-R-37 # gy onf whie F A ¥ oiftm awde SwmERT B T 7

| () e 21 ~ Q) e St 9 T Rew

(3) I T W A (4) SF & & B T

56.

Consider the following statements ;
Assertion (A) Carbon credit is tradable in international market

Reason (R) Prdwsmn were made in Kyoto protocol that developed
countries who failed to achieve their carbon emission reduction targets
can purchase carbon credits from developing countries who maintain
forests. |

(1) Both A and R are correct and R is the éorrect explanation of A
(2) Both A and R are correct and R is not the correct explanation of A
)] Aistrue Ri is false

4 Ais false but R is true

Prafafas o W RER PR ;

SRR (& )asmwaamf@qmﬁamm%n

FT () TS NI &y BT ¢ & e R 29 S o1 Fe S geR
%w@rmmﬁﬁmwﬂ%%mﬁahﬁﬁa}ﬂmw—mm%mﬂ
T e wem ¥

(1)awmﬁaﬁ%aﬂ1asa@aﬁm%
@ & w % A ¥ o F, o @ wd e R
() TR UY F W &

@) o7 ¥ g F W R

MPH/PHD/URS—EE-2020 (Geography) Code-A
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57.

Which of these statement is NOT true about the outcome of the

International conference held at Paris in 2015 ?

(1) A1m to reach global peaking of greenhouse gas emissions as soon as

poss1ble to achieve a climate neutral world by mid-century

@) Its goal is to limit global warming to well below 2, pre'fera_.bly to 1.

degrees Celsius, compared to pre-industrial levels

(38) By 2020, countries submit their plans for climate action known as
nationally determined contributions (NDCs)

@ Al count;'ies'have to abandon the use of coal by 2030 ‘
1 e B 2015 7 A ¥ gu SIS AT B TR 3 AR & @ ¥

@) mm@wmmgﬁwﬂmmﬁ%hqw@mmmh
O B ARTF TH W GG B dq

2) & @3 ¢ R e a B 2 ¥ TH A 5, aftmE: gé-aﬂzhﬁiswﬁ
mﬁlammmmmm ‘

@ zozomwmmammm@ewmwmm
(NDCs) %mﬁmgaam

| 20807 W 41 & 4ed v 1 o A

e
el
»
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58.

Match the List-I with List-II and select the correct answer using the
codes given below the lists ;

List-I R e . List-II

Weng . Scholar
(A) The Influence of Sea Power upon History = (i) Mackinder
(B) Rimiand , (ii) Ratzel
(C) Lebensraum . (i) Mahan
(D) . Heartland s (iv) Spykman
Codes: -' Sl

A B C D
WO @ G
@ @ @ ™ 6
® @ @ @ @
@ O G @ G

@-Iaﬁ@-ll%mwgﬁmaﬁmwm%ﬁﬁﬁﬂq@wmmgq
& O H T9T HIR

- e g
(%) zmmwagﬁmﬁamwao) ﬁﬁsvsr
(@) Redvg (i) XS
WRSEREL (iii) 7em
() erddwe (iv) A

T
® @& @ 6
M O @ G G
@O @ v O
@ @ @ @ 6

@ O G @ @

MPH/PHD/URS-EE-2020 (Geography) Code-A
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59.

What is gerrymandering ?

(1) TItis the change in voters list

(2) Changein constituenéy boundariés for political gain
(3) Change of election rules for political gain

(4) None of these

SR 4 ? 7

(1) I8 Adern g § qRadH 21

(2) T AT ¥ Hewwr & b el F qiee

(3) i A 35 T B P @ oRa

(4) SWF F ¥ B T

60.

Match the List-I' with List-II and éelect the correct answer using the
codes given below the lists ;

List-I List-II

Type of boundaries Countries
(A) Antecedent (1) Inter-states boundaries in USA
(B) Geometric (ii)) USA-Canada international boundary
(C) Subsequent (iii) LAC between India and China
(D) Superimposed (iv) 'Intef-State boundaries in India
Codes: | :'(

A et B
@D A v O
@ @ O @ @)
@ @) G @ 6
@ O @) @ G

MPH/PHD/URS-EE-2020 (Geography) Code-A
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Q“ﬁs:.i“ - Questlons
@-I%w@-llaﬁrghmaﬁmw@ﬁ%#ﬁﬁﬁmwmwmgq
Tl W H T BT |
q%ﬁ-l .@‘H | L il
el 3 W L
(®) wmh ' () 0 & of-Todta e
(@) =feE | (i) JTHC-FE SIS
(1)  orgerit i) (i) R e a”ra % oF TaaE
@ edfm T (Gv) e ¥ slaeha
T i
@ @ @ @
(1) @ dir G G é
) @) ® Gv) ()
@ Gy vy @ 6
@ @ Gv) @i G _
61. | Which one of the following represent the Frontier ?

(1) Itisaline between two nations

@) Itisa separa’tfing‘ factor and has no life existence

(3) Itis a zone between two pblitical units and has scope for interaction

(4) None of the above .
ﬁwﬁf@aﬁﬁaﬁw—m@maﬁﬁaﬁam%?

1 wRIIM I w @

2) wwmm%wmvﬁaﬂ%ﬂam

3) wamm%m@w%mmmma@w%
(4) ST F & RS @t

MPH/PHD/URS—EE—2020 (Geography) Code-A
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No. Questions
62. | Who said the following statement “Whosoever rules the Rimland, rule

Euras1a Whosoever rules the Eurasia, rules the destmy of the world” ?
(1) Mackinder

(2). A.T.Mahan

(8) Spykman

(4) Machiavelli

Frfoiae B @t fhae Fer ot ff Rovs X o #Xan 8, TR W AE Hr
Sl RO W e w8, g% g S ey B b e 87 2

1) ¥

2 udl. 7™

(3) wEHA

(4) Hea

63.

Which are the member states ‘of: Quad ?
(1) India-Britain-USA-France |

@ India-USA-Japan-Britain -

3) India-USA-Japan-France

(4) India-USA-Japan-Australia

e D T IT AT JE ?

(1) SRA-fsree-guan-5hg

(2) HRE-YTET-SYH-f5es

(3) HRA-JUH-SH-5HE

(@) T S-SR

MPH/PHD/URS-EE-2020 (Geography) Code-A
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64.

Consider the following statements ] )
Assertion (A) Exclusive Economic Zone 18 a coastal sea zone on which a
country has exclusive rights to use resources

Reason (R) India has EEZ upto 12 nautical miles in Indian Ocean from
its coast

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanati 1 of A
(3) AistruebutR is false '

(4) "Aisfalse but R is true

i Hoet W fER SR
W(ﬁ)mmﬂ%éﬂ@aﬁqﬂgﬁn%ﬂ%mwﬁm%ﬁwmﬁﬁ
ST & 1 R afeR & 2

FXT (%) ARA & 36 o< @ B womrR § 12 4l 7% EEZ §

(1) & qr % 5F w9 ? olk #, o1 % 9 arE '

(2) & T % N G R AR B, o A W ey w8 D

(B) & & WY F Ta 2 '

(4) o T § W & G R

65.

What is Sagarmala project ?

(1) Sagarmala is a project to develop transport and trade infrastructure
along the coast of India such as road, railway and ports

(@) Itisa project that will link all the major Rivers of India

(3) Itisaproject to mine the Indian Ocean area upto 150000 sq. kms. for
which India has got the rights

(4) None of these

HrRETn oREeT w g o?

1) mw%ﬁ%m—wﬁmwwaﬂmﬁm,mw

Tl % [ 3 T aRAe B
(2) ¥ 0 RIS R S R A Wl age ARd B S
6)) %@_qﬁﬁw%mﬁwooooqﬁm.mﬁwﬁwmm
e T wRa & o aifter §) '
(4) I & ¥ F 78

MPH/PHD/URS-EE-2020 (Geography) Code-A

@37




e L

Code-A

Qulfliti” Questions
66.

Which of the following practice broadly reflect the agriculture

characteristics of south Asia ?

(1) Commercial agriculture (2) Plantation agriculture

(3) Shifting cultivation (4) Subsistence agriculture
ﬁwﬁi@aﬁaﬁﬁ—wwwmaﬁ@ﬁﬁﬁwﬁaﬁmmﬁm%?
1) afifs 2) AT FH

(3) WM F (4 Pl BN

67.

Which of the following is designated as blue color job ?

(1) Researcher : (2) Factory worker

(3) Policy makers (4) Military officer
Pl & @ fld 0 1 & @ & fe sifveicaa foear T @ 7
(1) sieeRat (2) HITEFT FHAA

@) i Pl @ ¥ afE

68.

Which country of region is the habitat of White elephant ?

(1) Congo basin (2) Amazon basin
3) Thailand (4) India

PIF-TT 29T AT & The el 1w w2 7

(1) ®iM PR (2) A R
(3) UEATE ORI

MPH/PHD/URS—EE—2020 (Geography) Code-A
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No. Questlgns
69. | Which one of the following explains the Agriculture density ?

(1) ; Ratio between agriculture population and agriculture area

(2) Ratiobetween total population and Area

_(3) Ratio between total populatibn and cultivated area
(4) Ratio between total population and resburces
Pt & & av-ar g o o e wRar § 7

(1) B STEE T G A-n & A T

(@) % ST T S B A o

(8) FW SEE AUl e AET B S A

(4) T SR 1 W & A o

70.

Identify the parameter which is Not used in the cdnstrudtion of HDI
by WHO ? ‘ | '

(1) Adult literacy

(2) Per capita incp‘me ‘

(8) Infant Mortality Rate

(4) Life expectancy
waﬁwaﬁﬁueﬁWHowHDI%ﬁﬁwﬁwaﬁ@m%?

(1) e R

2) wia = Ei

() Ry 99 =

| @ S dereren

MPH/PHD/URS—EE—ZO20 (Geography) Code-A
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No. Questions .
71. | What is the share of agriculture sector in total workforce of India as per

NSSO report upto June 2018 ?

(1) More than 60% but less than 70%
(2) More than 50% but less than 60%
(3) More than 55% but less than 60%
(4) More than 70%

vgrzmsazstsoﬁthé%aaww%@ma«ﬁwaﬂaﬁrm%w
?

(1) 60% & it axeg 70% &/ FA
@) 50% d i Ty 60% & F
(3) 55% & s Wy 60% & HH
(4) 70% @ AR ‘

79. | Which one of the following is an example of “Prorupt” shape countries ?
(1) Myanmar (2) Nepal
(8) Canada (4) Fiji
Rl & @ di-ar ‘AR S 397 &1 T Jam §
(1) =AR &y (2) A
3 T (4) sl
73. | Who among the following has said that the action space of a regional planne

consist of trinity of Place, Folk and Work ?

(1) E.W. Burgess (2) J.Friedmann

(8) Patrick Geddes (4) R.d.Johnston
Wﬁﬁ%%ﬁ$ﬂ%ﬁ@mm%mmﬁ,m%m;ﬁ
qen & et § 7 : ,

(1) §3=g T (@ . wEshA

3) Uz S (4) IR. . ATERA

MPH/PHD/URS-EE-2020 (Geography) Code-A
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RQuestion
No. Questions
74. | Which one of the following has NOT proposed planning regions scheme for

India? \ 3

(1) 'P.Sen Gupta " (2) Gosal

(3) V.L.S. PrakasaRao  (4) V.Nath

Preffad § @ AT 9Ra 3 R Frise Ao 1 eS8 R
Q) @& T @) o '

(3) .uq.wH.uH T (4) 9. ™

75.

Which one of the following planning region of India was not proposed by
C.S. Chandershekharan ?

(1) Punjabregion (2) Aravalli region |

(3 GangaYamunaplain  (4) South Peninsular region

R § @ WA 3 Se-a R 8 @ e, e ¥ e T8 R
Q) vw @ R & ‘

(3) M-I AW (4) afor g &

76.

Which one of the following represent the third stage in Rostow’s model of
economic growth ?

(1) Drive to maturity (2) High ma;sls‘\consumption

(3) Take off stage (4) None of the above

e @ B T R B T & Atew ¥ A o B Rk w
2?

(1) R &g I @ & ¥R WG

(3) T&F WT @) IR & B T

MPH/PHD/URS-EE-2020 (Geography) Code-A
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given below the lists
List-1
Ideas/concepts

A. Polarization and trickle down effects
B. Centre-perophery
.C. Growth Pole

D. Circular and cumulative causation
. Codes:

\, A B C D

| @ @)  Gv) (i)

@ @ @ @

@ @ @ @ @)

@ O Gv) @) (i)

& T IO H T H

-1

RreT / SR

() fermre
(@) T amr et HT
C

& g | q
@M @ Gii)  Gv) (1)
@ G) @) @ @
@) G G @ @
@ @ Gv) (i) @)

(@) %a—qﬂﬁt
)

77. | Match the List-I and List-II and _select the correct answer using the codes

(%) Wmaﬁﬁﬂnﬂﬁaﬂmmm

List-I1
Scholar
(i) Hirchmann
(i) Gunar Myrdal
@iii) J.R.Friedmann
(iv) F.Perroux

19 I & g P e $ AR R T 7 o

MPH/PHD/URS-EE-2020 (Geography) Code-A
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78. | Which one of the following' cbrresponded to the third stage of Penck’s

model ? :

(1) The deepening of valley slow down. The height of interfluves begin to
decrease

(2) The rate of down cutting of valley is less than that of upliftment

(3) The rate of down cutting is equal to the rate of uphftment

(4) None of the above

Frafofes # & F9-w 3% 3 dfed T aaen & agev @ ?

(1) m%mmmmnw#mﬁmg@m

(2) &t & ST HET Bl & FUH H GO T HH G0

(3) TRERT W W F TN F TE A

(@) SHE 7 § @ @ '

79.

Who said that in old étage of river the whole block of land looks like the
‘Peneplain”?

(1) Penck (2) Davis

3 King (4) Crickmay

R er B Al @ QO smen 3 g & U Evs W mm%v
1 = @ FWa

3) Rt @ PR

8 00

Name the process when “The fragments of rocks move forward by jumping
continuously”.

(1) Saltation (2) Traction

(3) Suspension : (4) Bumping
MWWWWW%@%WWMW&%?
1) R @ FEW

3) T " (4) SR

MPHIPHDIURS—EE—2020 (Geography) Code-A

(43)




o N )

Code-

Q“ﬁs:f"“ Questions

81. | Which one of the following feature is not created by underground wate
(1) Hums (2) Uvala
(3) Polge (4) Albs
R & @ AR-6 RASa v o ar e T Y ?
1) & (2) Sas
3) et 4) =y

82. | When one block rides over the other block, it is called as :
(1) Normal fault (2) Overthrust fault
(3) Thrust fault (4) Slip fault
4 U U qEY @S B S 9g ¥, & T8 HEww §
(1) TaM S (@) fmdy w9
(3) & w5 (@) Reqwa

83. | When two limbs are so much inclined that they appear tobe parallel w
is the process calléd ?
(1) Symmetrical folds (2) Monoclinical folds
(3) Isoclinal folds (4) Recumbent folds
mﬁmﬁ@%%%%mﬂmmaﬂgﬁ%mwm%
(1) il T Q) EEF{
(3) WA aeH 4) ‘Iﬂ‘ﬁﬂ

84. | Which one of the following is not the erosional feature of glacier ?
(1) Roche Mountain (2) Arete
(3) Paternoster lakes (4) Dreikanter
R @ BM-u1 Ruee @ Sracay fadier @ ® ?
1) W wa (@ e
(3) TN #id 4) FHF
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86. | Match the List-I with List-II and select the correct answer using the

codes given below the lists

List-I . - List-II
Types of Delta River
A. Arcuate (i) Mississippi
B. Bird’s foot (ii) Yellow
C. Estuarine (iii) Nile
D. Abandoned (iv) Houdson

Codes: i
AR e o |
1 @ G v o @)
@ @ G @ @ .
@ G @ Gv) @)
@ G Gv) @) G
-1 9 gei-11 %m@mmmmﬁamm@wwm
T HE I F TG FHIT .

T g
BT S L
(%) omgee ' () Pl
(g) a?zw? G @) I
(1) g ‘ (i) et
(9) wwigw _ (iv) &sEA
fd :

e ) ()
O 6 G G @
@ @ @ @ 6
@ @ O @ @
@O @ @ @

MPHIPHDIURS—EE—2020 (Geography) Code-A

(45)




0 s SN 1)

Code—/

No.

Questio Questions

codes given below the lists
List-1

A. Plutonic rock

B. - Voleanic rock

C. Sedimentary rock

D. Metamorphic rock

Codes:

A B cC D
O @ @ @
@ @) @ G O
@) @) Gv @ O
@ (v O @ @

T T I F T B
-1

. & | .
®m 6 @ 6 @
@ G @ @ O
@ @ @ @ O

@ Gv) @ G G

86. | Match the List-I with List-II and select the correct answer using t}

List-II
(1) Basalt
(ii) Geneiss
(iii) Sandstone
(iv) Granite

19 G-I & T g SR T g & Y R g @ o 3

a1
@0 ¥

@) e

() TG T
) FE

MPH/PHD/URS-EE-2020 (Geogr

aphy) Code-A
(46)



estion :
No. Questions
87. | Consider the following Statements :

Assertion (A) Polar areas sea and oceans have low salinity.
Reason (R) Melting of snow is high in polar areas.
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(8) Aistruebut Ris false
(4) Adisfalse but R is true
Pt et ¢ Rrem R - |
S (o) g & W TR § S 9 A ¥
B (%) gda & F 7 7 Rgwen o @ '
(1) & 7 F 3 o § R %, @ B wd e §
() & & % af we ¥ oK, em"ra’&raﬂ@rﬂé?%
(@) AT e WY F W
(4) & T 8 UTY F G &

88.

What is the range of temperature for the }gro‘wth of coral ?
(1) 10 to 22 degree centigrade

(2) 8 to 26 degree centigrade

(8) 18 to 36 degree centigrade

(4) 36 to 40 degree centigrade
m(m)%ﬁm%mwemmm%?

(1) 109 22 f&h &ie | ‘

(2) 87 26 fuft Fe

(3) 189 36 fEf &Fiie

(4) 36% 40 &t e

MPH/PHD/U RS—EE—2020 (Geography) Code-A
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89.

Consider the following statements :

Assertion (A) More than 90% of water vapor in the air lies below an altitu
of about 2000 metres.

‘Reason (R) The amount of water vapor decreases with altitude

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(8) Ais true but R is false

(4) Ais false but R is true

e et T R G ¢

ST (%) 90% @ S o A g @ 2000 T & T A Sk B
By | |

T (%) I AT E AR S P Ay gedh ¢
(1) & a5 ot a8 ¥ ok &, o o ol e §

@ o T % 8 wh ¢ e, o @ 6 s T B
@ @Y ey s Ty

@ Fmmdogs
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| 90. | Match the List-I with -I;iétAiI and select the cdfrect answer using the
| codes given below the lists '

* - . ListI - List-II
B ' Winds : Country/Region
| A. Sirocco () Spain

B. Salana (i) Tunisia

C. Khamsin (iii) Sahara

D. Gibl L  (iv) Egypt

Codes:: ‘ '

A B S
Q @ @ Gv G
@ @) @ v @
@ @) @ G G
@ Gv) @ G @

| TR I S T g b g B R Ry e o o |

-§% WE T W T R -

g IR -1
! ' T | /8
(%) frds | @ @@
(®) T - Gi) iR
(1) wmRm (iii) eI
(a) Preh ‘ (iv) P

® @ @ (@

1) @ () Gv) (i)

@ @) (i) Gv) @)

1@ G G Gv) @)

@ (v G )G
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91. | Consider the following statements :

Assertion (A) Horse latitudes are found between 15 degree to 25 degre
latitudes in both the hemispheres. :

' Reason (R) The calm conditions and low pressure are found in horse latitude

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(3) AistruebutRis false

(4) Both A and R are false

Rrifga Ul T RER AR ¢

e () 4 et § 15 ol @ 25 Rl orite @ i o oreitw g o |
PR (%) gt onwist T g URRERY @91 # @9 O 9N §

1) & a0 F AN Ol ¥ R %, 9 W wd e ¥

@) o F O 98 ¥ o %, o1 A ud e @ 8

@) & @ ? g F W @

@) & T % A A 8

92.

Match the List-I with List-II and select the correct answer using t!
codes given below the lists

List-I ~ List-II
A. Steam fog (@) Due to cooling of the ground and adjacent ¢
B. Frontal fog (i) Duetodrop intemperature during horizont
movement of air
C. Radiation fog (iii) Formed at the boundary of cold and warm ¢
masses

D. Advection fog (iv) When cold air moves from land over oce
: and evaporation of moisture

Codes:

A B.: & D
1 @ @) @Gv) @)
@ G) @) Gv @
(8) (i) @ Gv) @@
@ Gv) @) G @
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Té-19 g1 %m@m@mmqﬁﬁm:ﬂammwmwm

T 8 W H T BN .

T -1
(%) W Few (@) 9 T oy ag @ €2 A @ sRw |
(@) wame Hew (u)argaﬁtﬁh@rﬂfa%mmﬁﬁzﬁza‘aw

(1) R Bew (i) B aur v oy AR B d T T b

(@) wemm Fw (1v>maam@am%wm%mm,*‘

() el R
® 6O @ @ @
@ @ @ @ O
® @ 6 @ @
@@ @ @ o

93.

Which t&pe of climatic region has the least range of temperature ?
1) Polar region |

(2) Equatorial region

(3) Temperate region .

(4) Tundraregion

Sy 8 & R S 1 A w9 QB A 3 7

1) g

(2) TR &

(3 oo &

@ gmE
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94. | Which one of the following statements is wrong ?

(1) Nocturnal thunderstorms occur in night

(2) Thermal thundergtorms are produced in the afternoon :

3) Fi'ontai 'phun_derstorms are produced duxl'ing'morﬁing '

(4) Orographic thunderstorms are produced in mountainous areas
Prefifa Fost & & P-T1 W9 2 ¢

(1) PR qusted @ & a3 ¥

@ ady gostent A § a9

(3) Wed UUETEM gaE B XM B ¥

@) s avsven wida & 4 A ¥

95.

Which of the following are true about inversion of temperature ?
(1) Dryair | :

(2) Clearsky

(3) Stable Weather ‘

(4) All the above e

A B e & AR A PreniR & v wh R ?

V) g% 7 e

(2) WD SN

@) Rt A

9 IR Tl
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96. | Consider the following statements :

Assertion (A) According to Farrel’s law “The ocean currents tend to be
deflected towards the right hand in the northern hemisphere and towards
left hand in southern hemisphere due to rotation of earth”.

Reason (R) The moving water towards poles reduces the sahmty of polar
areas

(1) Both A and R are correct and R is the correct explana,txon of A

(2) Beth A and R are correct and R is not correct explanation of A

(3) AistruebutRisfalse

(4 Both A and R are false

Pl Rt o faR @i -

e (o) BN B Frm B %WW it i
Merd 7 AR a1 em awr Mo # ad a @ SR g

gl
T (%) gal # o mﬁgﬁn@ﬁaﬁmﬁmw%u
(1) & a0 % & w6 & o %, 7 @ wd aweq &

(2 & awF aH wEl O F, 7N ud ey A 2

(@) AR WY F TR

(4) & 7 F O e R

917.

| ® (1)a(2)a=ﬁaar%

Which among the following is true about ocean temperature ?

(1) Ocean temperature remain around 25-27 degree in equatorial zone

(2) Temperature decline towards polar areas in both the hemlsphere but
decline is sharper in southern hemlspheré

(3 Both (1) and (2) are true

(4) (1) true (2) is wrong o

W%W%Hﬁﬁﬁ%ﬁiﬁﬁﬁﬂ?ﬂtﬂﬁ% ?

(1) sFEErd & & W au @ 26-27 R e By
2) ﬁ%ﬁﬁgﬁuﬁﬁmwm%mmmﬁmmm
¥ |

@ ) w@e@Q wat
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98. | Consider the following statements :

Assertion (A) During spring tide earth, moon and sun comes in the sax

direction. : it

Reason (R) The sun, the earth and the moon comes in positioned th

causing low tide. This phenomena is called Neap tide

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not correct explanation of A

(3) Aistruebut Ris false

(4) Both A and R are false

Prefiiee el T RER AR -

R () wm%mg@,mm@@amamm%

R (%) gﬁ,q‘&hwﬁm‘ﬁmwmm%lwm#mmi
| e

1) & qo % A W ¥ MR F, B e R

@) o am % O o ¥ ok %, % A e Y

@) & WY g F W @ ’

(4) & T F A WA &

99.

Aral sea is located between .... ?

| (1) Kazakhstan and Turkmenia

(2) Uzbekistan and Turkmenia
(3) Kazakhstanand Uzbekistan
(4) Uzbekistan and Tajikistan
o arr R ®

(1) Foieer T gl & 9
@) TRRREE T g $ 9
(8)" FofaE T SRR 3 i
(4) SRR T qeeae $ 99
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100.

Dry adiabatic lapse rate is .

(1) 3c®per 300 ascend

(2) 2.5¢° per 300 metre ascend
(3) 2c¢° per 300 metre ascend
(4) 1.5¢°per 300 nietre ascend
I TEIST G ST §

(1) 3c°ufr 300 Hiex =g

(@) 2.5c°3f¥ 300 fex T

(3) 2c°HfT 300 e =wRE

(4) 1.5¢°9fd 300 Htex ToTE
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Question
No.

Questions

What is the share of agriculture sector in total workforce of India as per
NSSO report upto June 2018 ? ' |

{1) More than 60% but less than 70%
{2) More than 50% but less than 60%-
(3). More than 55% but less than 60%
(4) More than 70% :
S 2018 % NSSO RUR & FgaR 9RA & F7 & a0 & Y & 1 o oewn
= 4

(1) 60% q aIftF Wy 70% & FA

(2) 50% | 3fF g 60% & FH

(8) 55% ¥/ I Wy 60% / FA

(4) 70%9 sE

(1) Myanmar (2) Nepal

(3) Canada @) Fiji ,‘
e § & - e S A9 BT SEe ¥ 7

(1) BT 5 o o (2) WU

@) ®Er 4) feoft

Which one of the following is an example of “Prorupt” shape countries ?

Who among the following has said that the action space of a regional planner
consist of trinity of Place, Folk and Work ?

(1) E.W. Burgess - (2 J.Friedmann
(3) Patrick Geddes (@) R.J.Johnston

mﬁmaa@mmmwmwammﬁaﬁa%mm
7 F e § 7

(1) =g &9 @ 3. i
3 s Ao (4) 9R. . ST
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Q“§?° Questions
4. | Which one of the following has NOT proposed planning regions scheme for
India ?
(1) P.Sen Gupta (2) Gosal
(3) .V.L.S. Prakasa Rae (4) V.Nath
e 3 @ A o & R Pl Ao 1 s T 8
@) @& I @
3) .0w TH IR T @ #&. ™
5. | Which one of the following planning region of India was‘.lnot proposed by
C.S. Chandershekharan? ’
(1) Punjabregion @ Aravalli region
(3) - Ganga Yamuna plain (4) South Peninsular region
ﬁrﬂﬁr@ﬁﬁ@rmﬁ$%ﬁ—mﬁwmqa%ﬁ.®.ﬁﬁwﬁmﬁﬂﬂﬁm
Q) wEa (@) e
(3) M- AEE @) R yEd@de &
6. | Which one of the following represent the third stage in Rostow’s model of

- economic growth ?

(1) Drive to maturity (2) Highmass consumption

(38) Take off stage (4) None of the above
Wﬁ%%—maﬁmﬁm%ﬂ@a%ﬂmﬁﬁaﬁmﬁﬁﬁm'm
37 | -

(1) TR ¥ SRW @ R PR K

(3) RN T i @) 9l ¥ /@ A T
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RQuestion R 43
No. | Questions

7. Match the List-I and L1st~II and select the correct answer using the codes

given below the lists
| List-I ' - List-IT
' ‘Ideas/concepts e e Scholar
o Polarization and trickle down eﬂ'ects (i) Hirchmann
| B. Centre- perophery ; Jap - (i) GunarMyrdal
C. GrowthPole (il J.R Friedmann
D. Circular andcumulative causation @iv) F.Perroux
Codes: . .
AP C D

@ 0 @ v (i)
1O 6. ety B
@ wl i) @
@ (v) (@) (i)
ge-1 & gE-11 %mgﬁmﬁquﬁﬁ%%mwﬁwwm

B W& R F 47 I :
- Th-11
feem / sragmron REm
(m) Wwﬁﬁ##ﬂﬁﬁaﬂtmm @ wsid
(1) ﬁ‘cﬁrﬂaﬂ s 57 AR (i) 3.
(H) ‘ﬁﬁq au Wﬂ e (v) %A
N T q

M @ Gy Gv) (i)

@ G G Gv) ®

@ G G @ G o ve

Ay D (iv) G G
MPHIPHD/U RS—EE—2020 (Geograth) Code-B
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8.

Which one of the fpllowmg corresponded to the third stage of Penck s

model ? : " ‘

(1) The deepening of valley slow down. The helght of mterﬂuVes begin to
decrease

(2) The rate of down cuttmg of valley is less than that of upliftment

(3) The rate of down cutting is equal to the rate of upliftment

(4) None of the above ' '

Wﬁﬁ%—m%%%%ﬁm%aﬂﬁq%?

(1) T B e & 4T @A EeRE @ S g g8 8

(2) T D S R B W-FYW B G T T A
(3) SOTHR # X F IUN D WEC W .
4) SWw ¥ A B

9. Who said that in old stage of river the whole block of land looks like the
‘Peneplain”?
(1) Penck ' (2) Davis
(@ King @) Crickmsy
Ry er 35 8 o QO oren 3 g H 93 OvS Wﬂ tﬁmﬁ@ﬁr%?
@ K 2) Fw
G e - (4) TR
10. | Name the process when “The fragments of rocks mOVe ‘fOrward by jumping

continuously”.

(1) Saltation ; (2)‘ Traction

(8) Suspension ' (4) Bumping

SRR S T SR T e S GRS SR SOWHt M R § 7
(1) . HesH (2) SH

©® W @

MPH/PHD/URS—EE—2020 (Geography) Code-B .
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11. | What was the outcome of Kyoto protocol ?

(1) It was an international environmental summit to discuss ways and
, ’means to reduce the green house gases emission especially the Co,
(2) Developed countries failed to pledge to reduce their €0, emission by
6-8% of theirlgvel in 1991 by 2012 ,
(8) USA and Russia refused to sign the document, citing it discriminatory
since India and China were exempted from any obligation

(4) All the above

| FNE SR T  aRw e ?

(1) 7 M grew e, Riltwe: CO, & ot 9t 957 &0t & a9t ok Al o¢ o
O % AT 0 oS Wi BT wde e

(2) R 3 2012 % 1991 § S99 CO, IwoN & &R 9 6-8% 7% 9 5 &

@) WY T SR w0 W Y R AR R B P R § g A9 B
T I P BT A G TR T S B Y TR B RAqT

(4) SWFE it ‘ i |

12. | “Buttress of roots” is phenomena observed in which of the natural areas :
(1) Steppes (2 Temperate forest
(3 Tundrabiome -~ = ()" Tropical raiforest biome
‘oISt A wE” o A A Bl MR wemwd
18. | Which ares is not ‘écolpg*iéal hot spot amongthe :féﬁOWiﬁg v
(1) Satpura plateau - (2) Eastern Himalaya
(3 Indo-Burma regidn (4) Western ghaté
Freafofe & & div-ar & WRReRey et 78 8 7
) FIGI B e (D)0, s
(8) ART-wAi &= : (4) qiRErdt ure

MPH/PHD/URS-EE-2020 (Geography) Code.B
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14. | Match the List-I with List-II and select the éorrectl' én_swer using the
| codes given below the lists :

List-I : List-II
National park ‘ : States
(A) Bandipur national park @ Kerala
(B) Kaeladeo Ghana national park (i) Karnataka
(C) Kanha National park (i) Rajasthan
(D) Periyar national park (iv) Madhya Pradesh
Codes:

SRR e B
Q6O 2@ @ @
© @ @) m O
@ @) G @ @ %
@ @ G @ A T R
@-Iaﬁr@-ll%mwmww%ﬁ@%i&ﬂwmﬁﬂ
o TR PO -

T 4 -
T S e i
() AR T T - G I
(@) Fawia o wfd g (@) FACH
() el T T (i) TN
(=) AR TS I - £ Gy) we R
Sl ,

@ @ O @
o6 6 @ W
@ G @ @ O
@ Gy G @ O
@ O v @ @
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15.

What was the final documents signed at the Earth summit held in Rio-de
Janerioin 1992 ?

(1) Agenda21 ~ (2) Convention on Nuclear energy

(3) Declaration on air pollution (4) None of the above i
1992 % RA-R-330 & gy ond whte F B @ o TwIRW SRTERT AT T A 7
(1) giver 21 , (2 TRmE S O aEeT

@) T WY RWEAET (4 I F A Al

16.

Consider the following statements ;

Assertion (A) Carbon credit is tradable in international market
Reason - (R) Provision were made in Kyoto protocol th eveloped| .
countrles who failed to achieve their carbon emission reduction targets|

can purchage carbon credits from developing countries who maintain
forests.

(1) Both A‘and R are correct and R"is‘tvhe correct explanation of A

(2) BothAandR are correct and R is‘ not the corr-éct explanation of A
(3) Aistrue Ris false

(4) Aisfalse but R is true

i wuRl ® e AR ;

amm( 7) B AT Wity SR § amR a

T (%) FEY M eI o T S R R 2 S G e S g

%wﬁmmﬁm@%%mwmﬁaﬁmw—mm% GICE
g Gh% 5 1

(1) o 7 % O v ¥ R 3, o A wd e
@ & T W ¥ AR F o A ad e 3
(B) AWHR WY& o &

(4) & T B WG F DR
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Questio Quemons
No. i ' 7‘ . ‘ |
| h of these statemey’{s NOT true about the outcome of the
hich o
17. el field at Paris in 2015 9.

International conferenc/
//2/) bl oot gfeenhduéé gas emissions as soon as

1) Aim to rea
o hieve a climate neutral world by mid-century
- possible , )

/A/’s to limit global warming to well below 2, preferably to 1.5|

Q) Its
gme,Celsms, compared to pre- mdustnal 1evels

‘ (‘I;‘) By Z‘O’ countries submit their plans for climate action known as
at?uy determined contributions (NDCs) :

i nat’ ‘ ‘ i
: )
Wuntries have to abandon the use of coal by 2030

Emﬁwzmsafmﬁgqmmaqﬁm%mﬁmaﬁ?

@) mewmmwaﬁmm%mmammmm
Wﬁ“*%wwq@aﬁwm Ak S

| @ %w%ﬁsamwmawmm s \gmznﬁasmaﬁ
g A 1.5 Ry St oo Wi B S '

(3) 2020 % 21 STy e % e 1o Aot ot T W R P e
(NDCs) & &Y ffsregr arﬁ?r

(4) 2030mw%aﬁﬁm?r%mmﬁasawm
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§fi°n Questions
1.8.

Match the List-I with List-IT and select the correct answer using the
codes given below the lists ; 1

List-I - " . List-II
Ideas L i Scholar
(A) The Influence of Sea Power upon History = () Mackinder .
(B) Rimland ! (i) Ratzel
(C) Lebensraum - ¢ (il)Mahan
D) Heartland Lhain (iv) Spykman
Codes:

A nE

oo @ o e

@ @ G G @
@ @) . @M. 6

@ 0o @ @ @ | e
ﬁ-lﬂﬁ-lltm@mﬂmwm%ﬁﬁﬁwwmmmgq

@) Mol G e
(0 W G v
(7) eddvs | | (iv) WEHie
@': :

® @ 0 @
W O @ @ @
@ @ @ G G
@ @ G @ G

v

@ O v @) @)




Code-B

Q“§Sf° , Questions

19. | What is gerrymandering ?
(1) Ttisthe changein voters list
(2) Change in constituency boundaries for political gain
3) Change of election rules for political gain
| @) None of these
Sroefer @ & ? |
(1) 76 TeRw g%ﬁ # uRed B
@ mmw%gmawma%ﬂm
@) TR aW ¥ g % PR # dﬁﬂﬁ#
@ mﬁrﬁazﬁagq@g ‘

20. | Match the List-I with List-IT and select the correct answer using the
codes given below the lists ; , »

List-I List-II

Type of boundaries Countries
(A) Antecedent @) Inter-states bouridaries in USA |
(B) Geolasteic 5 WS 0 L ‘(if) USA-Canada international boundary
(C) Subsequent o ; @iii) LAC between India and Chma
D) Supefiﬂaposed @v) Inter-Sj:at,e bogn&_anes in India .

Codes: | ; ‘ i ol SRR
s B g

Q @ @ G 6D

@ @ @ G @)

@ @) G @ O

@ 6 W i)  Gi)

NPH/PHD/URS-EE-2020 (Geography) Code-B
. : (10)




Code-B

® @ @ (@
@D & G G Gy
@ @ 6 v G

® @ @ @ 6
| @ @ (@{v) (ui) @ii)

lflit.ion s . Questions |

SRIRRLE R R S ———
Tl SR T4 R g |
: ;G | L g
et e O

ICA . O s ¥ s g

| (@) s () TE-EE s g
() oyt ) T e 3 A

(@) omifw (v) T & i e

ale |

'21. | Who g\ax;é‘-thél.t;pndépf of Landschafts Kunde ?

| (1) Richoffen b (2) Ritter
@) Semple - " @ None of the above
AUSMTE FT2 Y SrauTer fret & ? '
(D R G5 0wt @) Rex

1® & B @ o e @

MPH/PHD/UR'S EE 2020 (Geography) CodeB
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No.

Questio

Questibns

22.

Who said that exact lawé can be made only if man is excluded from
geography, because the man’s behavior is highly un,predlctable ?

(1) Saur (2) G.Gerald
3) G.Taylor (4) Huntingfon

Amﬁwﬁsmwaﬁmmmﬁ maﬂaﬁwﬁ«awr@m

i ol 1 FEER g & SR @ ?
@ @ s R

‘(B)x‘rﬁ%m’ (4)3'%*21

23.

Match the LlSt-I w1th List-II and select the cortect answer using the
codes given below the lists :

List " ListIl

Instrument | Uses
A. Planimetre (1) To measure length or distarice on maps
B. Rotametre = (u) To messure ared on maps
¢. Parallaxbar (ifi) To measure elevations of objects from

- |  the photos e

D. Pantograph (iv) Enlargement and reductlon of maps
Codes:

A B C: D
@ BHn & em
@ @ O @ 6
® @ @ O O
@ © G @ @ -

MPH/PHD/U RS-EE-2020 (Geography) Code-—B
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Code-B
‘Questions
‘@.Iaa@.nag&mmwwmaﬁa@a@mwmng
W YT :
g g1
| @) w0 @ mﬁaw;ﬁmmw%m
(@) Jerfex -(n)mﬁawmw%m
() W ER L (i) BT @ el @ SE & T & R
(5) ¥ (iv) AFRET &1 RO T qgH & Rig
e "

@ @ @ ®
(@ 4y iy o
(2) Gi) @ @) Gw)
@ G @ @ G
@ @O (v) (@) (D)

24, | Which of the following projection is suitable for direction ?
(1) Mercator +

(2) Polconic one standard

(3) Bonne’s projection
. (4) None of the above
ﬁwﬁmﬁmﬂxmm%mm%?

1) @R
@ dERE o e

@) A oW
4 Wﬁ?ﬁ ¥ # T@

MPH/PHD/URS—EE—2020 (Geography) Code-B
e (13)
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Q“ﬁs:im ' ; Questions

25. | Which of the following is the most suitable method to show dlstrlbutmn

pattern of crops ?

(1) Shading method
(2) Symbol method -
(3) Dot method

(4) None of the above
mﬁmaammm%mm@m%mmmm%?
(1) o fafr

(2) ik fafdy

| @ =k’

(4) SWHR F § Hig 7@

26. | Consider the following statements :

Assertion (A) Sinusoidal projection may be regarded as a modlﬁcatmn of
the cylindrical equidistant projection. :

Reason (R) The main limitation of the cyhndrical pro;ectmn is ‘the parallel
scale is exaggerated in it.

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanation of A
(8) Aistrue but R is false

(4) A isfalse but R is true

frfafed weoFl W R @ik

gﬁ?ﬁm( )Wq@wﬁ%ﬁmmmmwwwmm

|

FRT () qmmuW#ﬁg@FﬂﬁTﬂ?%ﬁB%‘ﬂﬁHﬂﬁﬁTﬁWﬂﬁ?ﬁﬁ%l

(1) ATMFIN TS ANF, AT H TG AL

) aam%ﬁ@%a%?asaﬁﬂﬁmﬂﬁ%
(8) o EH B WY F W 8

(4) o TR ¥ UG F R

- MPH/PHD/URS-EE-2020 (Geography) Code-B
(14)
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Code-B

“ﬁs&i@ - Questions
27. Match the List-I with Llst-II and select the correct answer using the
codes given below the lists : X4
* List-I \ List-II o
A. TIsopleth maps . (i) Natural grouping
B. Dot maps: - (i) Wind direction
C. Scatter groups (m) Changes which are relahvely gradual
D. Stardiagrams (iv) Population distribution
Codes: _
A B C D
@ @ i)  @Gv) (i)
@ G G0 G @)
@ @) G G @)
@ @O - Gv) C @) G '
@-Iﬂwn%mgﬂmﬂ%ﬁqmm%:ﬁaﬁamﬁwwmgq
EIRCEES fﬁq :
G-I gEi-11
(%) T ar AR O T
(@) efe TR @) s R
(1) wil T e (m)GﬁQﬁErﬁ*raTﬁWW%’
(8) e emw (iv) s feer
T . ; 4 s ,
o W@
@ O @ (@v) (i)
2) (i) @ @) @)
@ @) G @ @)
B0 G @ G

MPH/PHD/URS—EE—2020 (Geography) Code-B
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Q“ﬁsgim Quéstions

28. | Match the List-I with List-IT and select the correct answer uéing the
codes given below the lists :

List-I v List-11
Navigation system Country name
A. GLONASS (i) Chinese
B. Galileo (i) Russian
C. Beidou (iii) Europeair
D. NAVIC | (iv) Indian
Codes: :

A Be e o

D @ e e e Gy

@) G @ @y Gy

@ @) G @ 6

(@) @ e ()
@-Iww@-llwgﬁaaﬁquﬁﬁ%ﬁﬁﬂmiﬁmwmgq

| ¥ S g

| -1 | @-II
SRR g W W ™
(%) T @ @

(@ ¥R @) W
BRI ()
(w) s | (iv) HRAA
T *

@ @ W@ o
) (i) (@v) (i) o
@) @) @ @G Gv) A
(@) Wy iy Gy e

@ @ @ @) @)

: MPH/PHD/URS—EE—2020 (Geography) Code—B
. (16) :
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No. n. Questions
29. | Match the List-I with List-II and select the correct answer using the

codes given belqw the lists :

List-I List-II
Satellite Spatial resolution
A. RISAT i) 2.5m
B. Cartosat 2 (i) 40km x60km
C. Megha tropics (i) < 2mto 50 m
D. IRSP5 (v) <1m:
| Codes :

AfBCD

19 Q. @ v @b

@ @ O @) G

@ @ G @

@ O @ G G
@-Iﬁﬁ-ll%mgﬁmmmm%ﬁﬂﬁmﬁmmmgq
el I gﬁq

el thfr-n .
(%) e (@ 2.5
(@) #retde 2 @) 40 . x 60 R,
(1) A e (i) <2 #.& 50 @
(a) o s ug & 5 (iv) <1 4.

R
(3 @) e e .

W O @ @ @)
@ @ O @ G
@ @ W @ 0
@ O @ @ W

MPH/PHD/URS—EE—2020 (Geography) Code-—B
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No.

Qué"'stions

30.

Which of the following is the wavelength range of the visible light ?

(1) 750 nm—400 nm
() 25pum-—2.5 pm

ﬁwﬁi@aﬁﬁzﬁa—mgﬂmzﬁrmﬁm%?
(1) 750 3.7 — 400 7 #.

(3) 25 ptft. — 2.5 pHt.

(2) 2.5 pm—T760 nm
4 1mm-25 um -

@) 2.5 pt.— 760 %40,
4 1fH4. - 25}1 .

31.

Match the List-I with List-II and select the correct answer using the
codes given below lists :

List-I
Industries
Steel
Newsprint
Heavy water
Ship building
Codes: . ‘

A B C
@) @) @ )
@) aire e )

o i@ Moo -

1@ @ G @

@ G @) @)

D

€)'

@iv)
@iv)
@

@-Iw@-ll@gﬁﬁ@mw@ﬁ%?ﬂ%ﬂﬁmi@ﬁwmﬂmgqﬂﬁ

List-II
Location
(i) Thal
(ii) Salem
(iii) Nepa Nagar .
(iv) Mazgaon

S P -

@1 g1
(%) s@m () o«
(@) “Efﬁﬁ’ @) w
() s (i) AW T
() o ﬁtﬁ"l (iv) WS
D

MPH/PH /URS—EE—2020 (Geography) Code-B
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Ruestion

No. Questions
N T
® @ @ @
D G G v @
@ G G @ @(iv)
@) (i) (i) @) @iv)
@ (i) (iii)- iv) @
32. | Match the Llst-I with Llst-II and select the correct answer using the
codes given below the lists :
ListI \ List-II
; TheorleslModels Scholar
A M1grat10n i (1) E.A. Ackerman
B. ' Primate city G (u) F.W. Notestein
C. Population resources (iﬁ) Mark Jefferson
~ regions '
D. Demographic Transition (1v) S.A. Stouffer
Codes:

A R 9 D
(1) Gus G Gy 6
@ G . @ G @
@ @ @ @ v
@ @ G G 6

glwﬁ-llﬁ@aﬂmWW%%ﬁﬂiﬁﬁwmquW
T ke 0 |
- mmxn‘lm - foEm

(%) warw (@) § u AT
(@) mee (i) U%.e=g. Hewdq
(iii) I ST

(iv) TH.T. RHT

PH/PHD/URS-EE-2020 (Geography) Code-B
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Quﬁsgio Questions

T - |
M @ @ @
@ Gy @) W (61)
@ Gv) (@) G @
@) @ @i @ - @)
@ (@) (iii) @) @

83. | Consider the following statements : ,
Assertion (A) Developing countnes have high rate of stunted children
Reason (R) There is shortage of nourishment, especially that of balanced

diet in the developing countries

(1) Both AandRare correct and R is the correct explanation of A

2) HBoth A and R are correct and R is not the correct explanation A

(3) Aistruebut R is false

(4) Ais false but Rj is true

Rl FERl W AR i -

R (o )maﬁa%aﬁﬁama( )a—ﬁa%aaﬂ@ﬁt%a
e () Pt 2 3 Qe 1 w0 A E P 0 & g o

(1) & o F AN 68 8 B, & @ G A §

08 & qo & i wd § R &, aaﬁaﬁmaﬁ%
®3) o T8 3 W F W ©
@) & T ¥ g R

W2

MPHIPHD/URS—EE—2020 (Goography) CodeB
(20)
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Q‘uestions "

34. | Match the Llst-I with List-ﬂ and select the correct answer using the_
codes given below the lists :

List-I . ~ ListII
Grasslands ~ Regions
A. Prairies " @)  South Africa
B. Veld \ () Hungary
C. Downs ' (ii) USA
' D. Pustaz ' (iv) Australia
“Codes:

Fremnt o i s M
1O @ & & @
1@ ™ @O @ @
@6 e G g
@ @ G g m
'w-xﬂ@.xxa@mmwm%mm@@wmmaw

T T
g , @.n
ue & e ‘
| () s @ a’mﬁr ST
s o o o i f
() s Lo (D BB,
GIEE o  (v) SR
% *

® @ @ @
M @ ™ 6O 6@
@ ) O @ 6@
@ @) @O @ @
@ @) @ @ 6
MPH/PHD/URS-EE-2020 (Geography) Code-B
@1)




Code-B

Quﬁs:io S gy Questions

35. | Consider the followmg statements

Assertion (A) Baobab is the. dommant tree species of Savana of Afnca

Reason (R) Increasing population pressure has caused extenslve

deforestation in Africa B
(1) Both A and R are correct and R is the correét exﬁla;j;ation of A
(2) Both A and R are correct and R is not correct texr;p_li11na;t&"1t>n of A
3) A1struebutR1sfa15e ¢ e
(4) A isfalse but R is true
iR el T R AR
ot (@) S, GO B W B S P
FT (F )mmm%mmﬁﬁammg%
@) ammaﬁaﬁ%aﬁ? < AR AR
@) mwmﬁﬂé%aﬂ‘w ﬂﬂ%ﬂﬁmﬂﬂﬁ
) ama%tm@esw%
@) aw%qﬁgasaé’r%

86. | Which of the following country is the ha.bltat of the Maasai" _tribe 2

(T * B

(1) Nigeria (2) Ghana

(3) Brazil 4 Kenya
ﬁmﬁmﬂﬁﬁﬁﬁm%ﬂmmﬁmmﬁ%? |
(1) TR @) ol

@ e (@

MPH/PHD/URS-EE-2020 (Geography) Code-B
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Code-B

Questions

© 87. | Which of the following istrue?

| @ Confucianism is a religion followed in China
(2) Hinyan is the branch of Jainism

(3) Islam has the largest followers in the world .
(4) Protestant ig the branch of Judaism
Rt & & B-ar Wl § ? |

(1) FHREEE 4 & amaRa of ¥

@ & & o ot yrar

8) I B g ¥ wed i orgEr §

@ N H Ay

38. | Which one of the following is the most spoken language in the world ?

(1) English o (2) Chinese

® Hindi: > .. (4 Spanish .
ﬁwﬁf@aﬁﬁaﬁw—@ﬁmﬁmmmmmw%
(1) smft @ o

@ = W (4) Qg

39. Wh1ch of the follovnng country is inhabited by the Maori tribe ?

() Brazl @} Canada | 4'5
(3)v New Zealand (4) Indonesia

Frfeied & & -a1 30 & moldy srenfy @ Fraw & ?

(1) i - @ FTE

3) wﬁﬁfé @ TERRm

MPH/PHD/URS—EE—-2020 (Geography) Code-B
il
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Q“§93° Questions

40. | Which country has the highest proportion of Hindus in its total bopulation?

(1) Surinam el

(8 Mesab (4) India
ﬁw%ﬂﬁsﬂa?rqgaaﬁﬂwﬁ%ﬁaﬁwwﬁw%?
@ g @ Tl
(3 A e e

41. | Consider the following statements :

Assertion (A) Horse latitudes are found between 15 degree to 25 degree
| latitudes in both the hemispheres.

Reason (R) The calm conditions and low pressure are found in horse latitudes
1) Both A and R are correct and R is-‘tl',ie correct explanation of A

(2) Both A and R are correct and R is not correct 'explanatipn of A

(3) Aistruebut Ris false o |

(4) Both A and R are false

Prefeied HUFl T RER I | :
e (S ) CRIR S 15@%25@@%%%&#%%%%1
FRO (F) aﬁmﬁwmmwmmmaﬁ% ,

Q) G F T @R AR Ay i

@) & 7 % e g AR, aaﬁa@mﬁ%

@) o T8 ¥ g F W o

(@) & g % AN WA 8

MPH/PHD/URS—EE—ZOZO (Geography) Code-B
24)
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~ Questions

42,

i 5 3 Advég:tion fog (iv) When cold air moves from land over ocean

| Codes:

Match the Llst-I W1th Llst-II and select the correct answer using the
- codes given below the lists

List-I List-IT .
A. Steam fog () Due to cooling of the ground and adjacent air
B. Frontal fog (i) Due todrop in temperature during horizontal

movement of air

C. Radlat;on fog (iii) Formed at:the boundary of cold and warm air
o s masses

and evaporation of moisture

LR T gl
1) @ @) @v) @)
@) G G Gv). D
(3) (iii) @ Gv) @)
@ Gv) @) G @)

gE-1 & gE-11 %mgﬁmaﬁmwgﬁﬁ%ﬁﬁamiﬁwwm

QW W H YA A
-1 ga-11 .
(%) @ Few () 9 T wederd g S 52 AW B eRw
(@) @@ B (i) ag @ &fer M D AW awEE ¥ P @ swor
()RR FEw (iti) 32 qur ™ ag AR B AW ) 7@ 2

(9) wImE HEw (1v)ﬁaaﬁaarﬁhﬁag§%wm%mm

& & M @
@ O @) G G
@ G. G Gv) 6
@ (@ O @) G
@ @ @ @ o

MPH/PHD/URS—EE—2020 (Geography) Code»-B
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No.

RQuestion '

Questions

i
A

43.

Which type of climatic region has the least rangé of tempexatﬁre 7

(1) Polar region Lo Eqﬁatprial region

(3) Temperate region (4) Tundraregion
SRy 8 & e FER H A w9 R H A © ?
(1) g &= . (2) THEREH &=
3 T &= @ T &

44.

Which one of the following statements is wrong ?

(1) Nocturnal thunderstorms occur in night

(2) Thermal thunderstormjs‘-,ai'.e produced in the afternéq;i _

(3) Frontal thunderstorms are produced duripg inor,ningl

(4) Orographic thunderstorms are produced in mountainous areas
Frfead woet # @ A-a1 T 87

(1) FemeR avster W A & E

© e e dER A AR E

(3) e qvsteer guE & O A T

@) SR aveter @iy & F 8 ¥

45.

Which of the following are true about inversion of tempgrature 2

(1) Dry air ~ (2) Clearsky

(8) Stable weather - (4) Allthe above /
AN & gobaeT & gR A e § & d-ar 98 R ?
1) g% a7 @ wE
@) fexaAwm . (4) SR a9l

MPH/PHD/URS-EE-2020 (Geography) Codé-B
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46.

Consider the following statelﬁent’s;' .
Assertion (A) Accotding to Farrel’s law “The ocean currents tend to be
deflected towards the right hand in the northern hemisphere and towards

left hand in southern hemisphere due to rotation of earth”.
| Reason (R) The moving water towards poles reduces the salinity of polar

areas
(1) Both A and R are correct and R is the correct explanation o A
(2) Both A and R are correct and R is not correct explanation of A
(3) Aistrue but R is false 2

(4) Both A and R are false

e #oet w Rew #iRg

| ST () B & R & orgEr 9ot & o B aRer aEE @ e o

Wﬁ%ﬁm#ﬁwmmﬁmmﬁ'ww

4 & T % T g ¥

47,

Which among the following is true about ocean temperature ?

(1) Ocean temperature remain around 25-27 degree in equatorial zone

(2) Temperature decline towards polar areas in both the hemisphere but
decline is sharper in southern hemisphere '

(3) Both (1) and (2) are true ' '

4) (1) true (2) is wrong : :

TR F AE B R PR ¥ @ dw e 22 25

(1) TAerara &1 & @it qoem e 26-27 Reft war & -

@) gﬁwhmﬁﬁgaﬁaaﬁaﬁaﬁrww%mmmﬁmaﬁwm

@ (1) 7 (@) % w ¥
@ (1) F2 (@ wad

MPH/PHD/URS-EE-2020 (Geography) CodeB
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No.

Questions

48.

| Reason (R) The sun, the earth and the moon comes in positioned thus

(1) F T F AN TS E SR F, A BN wd e R

Consider the following statements :
Assertion (A) Durmg spring tide earth, moon and sun comes in the same
direction. :

causing low tide. This phenomena is called Neap tide

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(3) Aistrue but R is false

(4) Both A and R are false

i el W faemr g

AT (o) g WK & AR g, = @ g o & Raw F on o ¥

RO (F) G, g@wm@mmwm%tmmﬁmwm
gl

(2) o1 T F A+ ge B SN &, maﬁaﬁa@rﬂs"f%
(8) o ¥ & Wy F T 8
@) eﬂwaﬁaﬁﬂaﬁ%

49.

Aral sea is located between .... ?

(1) Kazakhstan and Turkmenia

(2) Uzbekistan and Turkmenia

(8) Kazakhstanand U_zbekistan

(4) Uzbekistan and Tajikistan

(1) FoiaE qur gaatar & di G
@) TRREEE T gEArEr & @
(3) FERGE T ISR B o

(4) SfHE T Tl & s

MPH/PHD/URS-EE-2020 (Geography) Code-B
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50.

Dry adiabatic lapse rate is'

(1) 3c°per 300 éscend

(2) 2.5¢° per 300 metre ascend
(B) 2c¢°per 300 metre ascend
(4) 1.5¢° per 300 metre ascend

(1) 8c°ufy 300 Hiex T | r(z) 2.5¢° iy 300%%@%

(8) 2c°¥fT 300 Hex =worE (4) 1.5¢°9fT 300 Hiex =g

51.

Which one of the following represent the Frontier ?

(1) Itisaline between two nations

(2) Itis a separating factor and has no life existence

(3) Itisazone between two political units and has scope for 1nteract10n
(4) - None of the above

Wﬁﬁﬁﬁﬁ—mﬁmﬁﬁ'ﬁﬁﬁm%?

1) AWM T w @

@) qa@quw%wsﬂﬁsﬂawﬁtﬁﬂﬁ@m

3) %awﬁmm%ﬁawm%wsﬁmﬁwégm%

@) TR F B G _ "

52.

Who said the following statement Whosoever rules the Rimland, rules
Eurasia, Whosoever rules the Eurasia, rules the destiny of the world” ?

(1) Mackinder =~ (2) A.T.Mahan

(3) Spykman (4) Machiavelli

T e ot Rt et ot o Redvg ¢ <r e 8, PR T A B B
St R W AT T 2, agghma%ﬁtrﬁra%ﬁuﬁmw%"?

(1) Afpey @ Tl gEE
(3) wEHIT | @) Y

MPH/PHD/URS—EE—2020 (Geography) Code-B
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53. | Which are the member states of Quad ?

(1) India-Britain-USA-France

(2) India-USA-Japan-Britain

(3) India-USA-Japan-France

(4) India-USA-Japan-Australia

S & g A% P G 8 ?

(1) ARA-BRY-JTaT-iE 2 e
©2) TRE-FUET-ST- BT | i
(3) HRA-JUHL-SYH-5Hid

(4)  SRA-THT- ST e e

64.

Consider the following statements ;

Assertion (A) Exclusive E« onomic Zone is a coastal sea zone on whlch a
country has exclusive rights to use resources

Reason (R) India has EEZ upto 12 nautical miles in Indian Ocean from
its coast

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanation of A

1 (8) Aistruebut R is false

(4) A isfalse but R istrue |
fr=foReT wael ) R i : .
mm()mmm@mwaa%mwm%mwm@
S F F e iR S 21 |
FRO (%) ARG H 365 d¢ § o= 7e@rR § 12 TR #iw a% EEZ ?

(1) & @ % 91 qE & A F, F P TE AT 8

() o1 T F ANl e & oK &, o B ad @ TR

(8) 91 Wl 3 WY & T © :

(4) 9 T 8 WY F G 8

MPH/PHD/URS—-EE—2020 (Geography) Code-B
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Ruestion o §
No. Questions
55. | What is Sagarmala project ?

(1) Sagarmala is a project to develop transport and trade infrastructure

_ along thé coast of India such as road, railway and ports

(2) Itisaproject that will link all the major Rivers of India

(3) Itis aproject to mine the Indian Ocean area upto 150000 sq. kms. for
which India haé éot the rights y

(4) None of these i

TR GRao i § 7

(1) HFRATT MR & T & T80 GRee au1 AR S S8 7%, daa

(2) ¥ T URANHT & SN ARG @ el e ARd & s

(3) wwm%wlsooooﬁm.wﬁzwﬁwmm

(4) SWH F § HIg T

56.

Which of the following practice broadly reflect the agriculture

characteristics of south Asia ?

1) Comm:erciall\agriculture (2) Plantation agriculture

3). Shiftipg cultivation, (€] Subsistence agx;iculture

PR & & -6 Sttt <R QR ) oy Ridtveel @ s @ awe &7
(1) afrfs Bl (2) T Y

(8) ®MiERT Y 4) Frfe i

MPH/PHD/URS-EE-2020 (Geography) Code-B

(1)




e o

Questio:
No.

Questions

57. | Which of the following ié .désignated as blue color jbb o
(1) Researcher | : (2) Factory worker ;
(3) Policy makers (@) Military officer fan
Arffa & @ PR MR & & & o B TR
(1) siverme (@) wEm FHEd

| (3) +hfer Ff @) = it

58. | Which country of region 18 the habitat of White elephant ?
(1) Congo basin (2) Amazonbasin
(3) Thailand (4) India
aﬁﬂ-w%ﬁmaammaﬁrmmwm%? P4
L @ R /A 0
(3) UEaS 4) 9 |

59. | Which one of the following explains the Agricﬂture density ? .

(1) Ratiobetween agriculture populatidn and agriculture area z
(2) Ratio between total population and Area :

3) Ratid Between total population and cultivaté_d area

(4) Ratio between total p\of)ulation and resources‘ ’ :
ﬁqﬁmﬁaaﬁﬂﬂz@fﬂrwﬁmm%?

1) @m@rw@mw%ma@m

) @WWW%WW _
(@) o O S R $ 9 S

(4) % ST qu WA $ A ST

MPH/PHD/URS-EE-2020 (Geography) Code-B
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7 - S

Question :
No. Questions
60. | Identify the parameter which is Not used in the construction of HDI

by WHO ?

(1) Adult literacy (2) Per capita income

(8) Infant Mortality Rate (4) Life ekpectancy

ST T T S WHO &R HDI % Frfor & s 78 a8 -

1) e R @) ufr =R o
@) Ry Iy« (4) e Fe
61. | Which oné of thé'following feature is not':'c‘:reati’e.d by‘ i;hdei'ground water ?
(1) Hums @ Uvala |
(3) Polge (4) Albs
Frfoiee & & H9-@ s gfem 9@ g FRfe w8 8 2
(1) &= (@) &
doas @ Y
62. | When one block rides over the other block, it is called as :
(1) Normal falllilti.. s i . Overthrust fault
'(® Thrustfault (4 Slipfault ‘
O WEESE (@) oA s
(3) &uT "y (@ Rawodw

MPH/PHD/URS-EE-2020 (Geography) Code-B
| (33)




Code-B

Question
No.

" Questions

- 63.

‘When two limbs are so much inclined that they appear to be parallel, what

is the process called ?

(1) Symmetrical folds

(2) Monoclinical folds

3 Isoclinal folds

(4) Recumbent folds
mﬂwaﬁa@@%%ﬁs%mﬂm&ﬁﬁ%mwm%?
(1) quiR e

(2) THTE a7

(8) HHATA aa

@ R

64.

Which one of the following 1s not the erosional feattre of glacier ?
(1) Roche Mountain ik

@) Arete.

3 Pater-n‘os‘ter tafes - .

4) _Dre1kanter o
ﬁﬁﬁ@ﬁﬁﬁﬁ?—mmﬁmﬁmﬂﬁ%?

1) W &

2) ;e

(3) Uewree &

@ g

MPH/PHD/URS-EE-2020 (Geography) CodeB -
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RQuestion
No.

"~ Questions

65.

Match the L_is't—I with List-IT and select the correct answer using the
codes given below the lists :

List-I i - ListIT
TypesofDelta . =~ ' River
A Arcuate - - : (1) MlSSlSSlppl
B. Bird’s foo’ﬁ (i) Yellow
C. Estuarine (iii) Nile
D. Abandoned - (iv) Houdson

Codes:
A B C D
L @ @) v G
@) @ Gi). v @
@) G . @ . .Gy G
@ @& (v G @)
@-Ieﬁrq;a“t—ll %mgﬁhﬁmwm%ﬁ%ﬂﬁm@wwm
W HE IR F; T Eﬁm

-1 e @-II
SR A TR T
(%) omgEe @) PreiRed
(@) =8 g2 e
(M sgori . . e
1ol TR  Qv) T
| &

& s e )
M 6 @ @ 6@
@ G @) G @
@ @ @O G @
@ O @ @ G

MPHIPHD/URS—EE—2020 (Geography) CodeB
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Question|

- A. Plutonic rock

No. Questions =
66. | Match the List-I with List-II and select the correct answer using the

codes given below the lists -

List-I List-11
(i) Basalt
B. Volcanic rock (i) Geneiss. - .

C. Sedimentary rock (iii) Sandstone

D. Metamorphicrock ~  (it) Granite .
Codes: ; i
R e B
o O () Gv) G
@) @y @i a1
@) @ v @ O
@ v @ @ @
gE-1 % gE-IT %wgﬂﬁfﬁmw@ﬁ%ﬁmﬂv@amwﬁ
T | @-11» g
(%) @ A () W
ST At G =\
() o o (i) R R
(a) eprfaRa A (iv) ITEE
B
Gl e
Q & @6y 8
@ G- Gy @v @
(@ 6D G G
@ @Gv) - () (@) (@)

MPH/PHD/URS—EE—2020 (Geography) Code-B
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' “ﬁ.?im . . Questions

67. | Consider the following statements :
Assertion (A) Polar areas sea and oceans have low sahmty
Reason (R) Melting of snow is h1gh in polar areas.
€)) Both A and R are correct and Ris the correct explanatlon of A
(2) Both A and R are correct and R is not correct explanation of A
(3) Aistrue but Ris false
@ A is false bu’t R is true
araasa:r( )gﬁqaaagawasmm#mwaﬁ%n
IR (%) g B F a7 Rewen o a2
(1) & T % I W E AN F, o1 o wd e ¥
2) &1 T & N ud ¥ ol s, & WE e T R
() TR WY P T &
@) & Td WY R

68. :What is the range’of temperature for the growth of coral ?
(1) 10to 22 degree centigrade ‘

(2) 8to26 .degree cent;grade |

| @ 18 to 36 degree cehti‘gfade

(4) 36 to 40 degree centigrade :

m(m)%mamwamw%? ‘

1) 10% 220 &e : '

) 8% 26RH e

| @ 18% 36 Rh Fe

, f_<4> 369 40 fot e

MPH/PHD/URS—EE—-2020 (Geography) Code-B '
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Question : :
No. Questions
69. | Consider the following statements :

Assertion (A) More than 90% of water vapor in the air lies below an altitude
of about 2000 metres. R

Reaéon (R) The amount of water vapor decreases ﬁith altitude

(1) Both A and R are cqrre‘ct and R is the cortect explanaﬁon of A
(2) Both A and R are correct and R is not correct explanation of A
(3) Ais true but Ris false

(4) Ais false but Ris true

mwmwmaw

iR (31) 90%%amwwmgﬁzomm1%ma%wr§%#
T 8

HRT (%) a@w*aﬁqﬁrﬁlﬁ%wwﬁ%r |
(1) awmaﬁm&%aﬁ'{% aTa%H'z?rarr@T% |
©@) awmﬁﬁﬁ%%% azﬁrﬂémﬁeﬁ%
3) aaﬁ%méﬁﬂaﬁ%

4) & TS WG H R

MPHIPHD/URS—EE—2020 (Geography) Code—B
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| @G o

codes given below the lists

List-I
Winds
Sirocco
Salana

- Khamsin
Gibli
Codes:
-\ : S >
@ 6. @) G

@) @) - G Gv)
@) @ @G @

O aQwp

@ . @ @

® ' (@ ()
M @ G
@ @ @ )
@ @) . @ G
()

(g)

(i)
@

iy '

@)

List-I1
~ Country/Region
@i Spain
(if) Tumsm
(111) Sahara
(iv) Egypt

@ @

@) TR

(idi) WerT

Gy) P

uestion :
No. | Questions
70. | Match the Llst-I with List-II and select the correct answer using the

MPH/PHD/URS—EE—ZOZO (Geography) Code-B
: - - (39




Code-E

Quﬁé;:ion Questibns.

71. | Innearest neighbor analysis R value varies between 0 to 2.156 Which valu
of R represent the maximum aggregation of all pomts(settlements)

M o e el

@ 1pi8f “ @ 2.15
ﬁﬂﬂﬁ@?ﬁﬁf&ﬁWRqﬁoﬁzwﬁﬂﬂqﬁﬂﬁﬁéﬁr%lRﬂﬁﬂ-wqﬁw
el (Bt )%W@ﬂwﬁﬁr@mm%? |

@0 e @ Qto T

3y 1915 | Aot 2.15

w9, | Which one of the following method is used to measure inequality ?

-

(1) Weaver method (2) Chisquare test
(3) Lorenz curve (4) Doi method
Rrefafes & @ SF-dt R @1 S orearer & AT & R & R 7
(1) der fae @) . T tmam '
@ g (@'sﬁéﬁﬁir

78. | Which one is not network analysi_s method ? . ‘
(1), Alpha index (2) Gammaindex
(3) Etaindex © (4) Satty index .
- Feae e fofy & 8 ? ‘
(1) o Gobih () T GRS
(8) T FEHD @) ¥ g

MPH/PHD/URS-EE-2020 (Geography) Code-B
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“ﬁsfm Questions

74. | Which one of the following is Cyclomatic number formula of network
anélysis?
(1) E-V+p2 (2) E-p+V
(3 E-V4p ' (4) P-E+V
T & § BiF-a1 Feash R & gERiiRs den o € ?
(1) E-V+p2 (2) E-ptV
3) E-V+p 4) P-E+V

75. | Which one of the scholar do not associated with Principal component
analysis ? i i
(1) Mooser and Scott | (2) Thompson
3 Soja ' (4 Morrison
P-1 REF THE ges R & wY weg R 7
1) TRIEE @
(3) o ‘ (4) AR

76. | Which one of the following is not sampling method ?

(1) Stratified (2 Random.
(3) Probability (4) Dual system method
Pt & - Pres AR 8 2 7

1) wrlegs (2) IgREs

(3) RrEaT (@) e o Rl

MPH/PHD/URS-EE-2020 (Geography) Code-B
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RQuestion . |
No. _ Questions

77. | Which one of the following do not reflect the types of correlation ?
(1) Positive or négative correlation

(2) Normal correlation

(3) Partial correlation

(4) Linear or non-linear correlation ‘

P & & S qeawrE & SRt A e d 7

(1) gTH® I FOMHE o=

(2) JAMHN ey

(3) STk WEHY

@) Wow @ Raw vy

78. | Which one is associated with the use of t-test ?

hmiaR

(1) When sample size is 30 or less .
(2) When sample size ié 30;40

3) When sample’ ‘Size is 40-50

| @ None of the above

-V A-TEET & ST & Ao T o 7
(1) o Frest oTHR 30 a1 F4 &

(2) o fFast MR 30-40 B

(3) o fast oTHR 40-50 B

(4) TR § | HBE T

MPH/PHD/URS-EE-2020 (Geography) Code-B
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“ﬁff‘m Questions ° 7
79. What is a null hypothesis ?

(1) That there is significant difference between specified populations

(2) That there is no significant difference between specified populations,
any obs_erved difference being due to sampling or experimental error

(3) It does not specify any relation between specified populations

(4) None of the above

L IYHIT T & 7 . '

(1) ¥& @ P S & d= w ol om 3

@) W= % MRl sreerel & fa ¢ ads o w8 8, 9 IR o Fregh ar
(4) SN T q B A& ‘

80.

(4) IF ash

Which of the following reflect the significance of normal distribution ?

(1) To approximate of “fit” a distribution of measurement under certain
conditions e

(2) To approximate the binomial distribution and other discrete of
continuous probability

(3) Toapproximate the distribution of means and certain others quantities
calculated from samples, especially large samples .

(4) Allthe above s

e & & F-a1 samr ReRer @ ae @ e

¢)) ﬁﬁaaaﬁ%ﬁaﬁaw%ﬁmw%g‘m’%ﬁhm%m

(2) g RRefdl & sieefa wa s ReRer & o orad quT el R

3) W%meﬁ,ﬁﬁqﬁ:ﬂ?ﬁ@ﬁﬁﬁﬁﬁﬁgmwﬁ%

MPH/PHD/URS-EE-2020 (Geography) Code-B
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Questions

81.

Select the correct statement of the following :

The barrel shape age sex pyramid diagram reflects the population
characteristics of which type of country ?

(1) Developed country (2) Moderately developed
(8) Developing country (4) Very poor country
e & & w8 %o & g ¢

W%Wwa@—mmaﬁamw%%ﬂﬁ W#ﬁ%ﬁﬂaﬁ
gl § 7

(1) foepfe 3o (2) wem feeRi
3) Feashar 3w (4) g Fe 3

82,

Which is the predominant French speaking province in Canada ?
(1) Ontario (2) Manitoba

(3) Quebec (4) Alberta

B9 FET § T B aml g & 7

(1) o @) Afwdar

3) w&® (4) sl

83.

Which area (Borough in London is predommani;ly mhablted by South
A31ans?

| ) New Helm- (2) Westminister
(3) Greenwich (4) Southwark
aveT § AR 8 (T g w0 A R R R R ¥ 7
Q) =¥ @) SRt
(3) dnfew (4) RS

MPH/PHD/URS-EE-2020 (Geography) Code-B
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uestion| .
No. Questions
84. | A person of mixed European and Indians in Latin Amerlca 1s called a

(1) Mulatto

(2) Mestizo

(B) Meiji

(4 MauMau
%ﬁwaﬁﬁwﬁmwmﬂumwﬁaﬁmw%
1) =ad

@ e ‘

@) |

@ TS 7w

85.

Which of the following is the sﬁb race of Caucasoid race ?
(¢)) Me‘diterrénean

(2) Negrito

3) Eskimo

(4) None of the above

ﬁwﬁ-@aﬁﬁﬁﬁ-ﬁmm@wﬁraﬁw—wﬁf%?

(1) AR

2) At

) T

@) SWE F @ A

MPH/PHD/URS-EE-2020 (Geography) CodeB
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86. | Match the List-I with List-II and select the correct answer using the
codes given below the lists : :

List-I List-I1
Old name of River New name of River
A. Sutudri @) Jhel‘p.m
B. Asikni (i) Chenab
C. Parusani (i) Ravi
D. Vitasta @@v) Sutlej
Codes:

A B e

(D Gvy. G 0 @

@ ) @ @) @

@ @) Gy O G»
@ @ @ v @
@.Iﬁ@.xxag&mmqu%ﬁmﬁ{amwmng

SR G -
Th-I g1
T F I T T F T A
(®) 9= @) o
(@) efafm ‘ (i) W
(1) w=h (i) T
() forcear (iv) gt
EEQ’ s

® @ @ &
O @ @ O @
|l@ @ @ 6
@) @ @ 6O
@ @ @ w6

MPH/PHD/URS-EE-2020 (Geography) Code-B
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codes given below the lists :
List-I
Work

A. Radicalism

B. Behavioralism

C. Positivism

D. Post modernism

Codes :
A B C D

) (1v) @ @ G
@ @ 6@ @ G

@ Gyt @ - @
@)l ) (v G

List-II

Name of Scholar

@) dJulain Wolpart
(i) Willism Bunge
(iif) Ley and Mills

(iv) Auguste Comte

uestion _ e
No. Questions
87. | Match the List-I with List-II and select the correct answer using the|

@.Iaa@.nagﬁmaammgﬁﬁmaﬁaﬂ@mmmma
[CieEd

® @ @ @
@an)-- @y 6 6
@ Gv) G) G G-
G iy @ (v

@ @ O @ G

g

feram #1 w9
() St e
(i) faferer &%
(iif) & T e

 (iv) difRT FRe
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RQuestion
No.

Questions ;

- 88.

“codes given below the lists :

o Nature of geography (i) I.R. Heartshorne .

~ tion to history
C. Human geography (m) R.H. Stoddard
D. Geography in the “(iv) G. Taylor
twentieth century
Codes:

Match the List-I with List-II and select the correct answer using the

List-I List-I1
Books Authors

B. A Geographical introduc- (i) L. Febvre

A B0 0
QO @ v @
@ O @ G G
@ () O 4 4
@ & . G @
@-Iq%@-ﬂ%mgﬁﬁﬁ«ﬁmamgﬁﬁf%ﬁﬁﬁawwwwmgq
W I G |

L | -1

T | Sk
(%) =R off Rt () oI, EaN
(@) © Prlmfm dewm ¢ R (i) w. 9= .
(M) T R (iii) TR 9. QR

(@) Pl & < e g0 Gv) st 3w

ok ,,

@ @ M @
M O @ G G
@ @ @ @ G
@ @) @ 6O W
@ O G @ @

MPH/PHD/URS—EE—2020 (Geography) Code-B
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Question ' :
No. Questions
89. | Which of the following approach truly explain the statement “Man is a

product of the earth’s surface....”

1) Environmental Determinism

(2) Behaviouralism

(3) Possibilism
(4) Socialism

Rt Quel & @ e e aﬂﬁgﬁﬁm‘gaﬂ@w% ........ o
e § 7

(1) Wi FeReeE (2) FTFERAG
(3) - HEETS (4) TS

90.

Which of the following is not objective of the behavioral approach ?
(1) To define the cognitive environment which determine the decision-

making process

(2) To generate primary data about human behavior

3) To adépt intérdisciplinary approach for theory building and problem
solving '

(4) None of the above

Frfifgd § & PH-81 RIS SURH F I89q ol § 7

1) WW#WW#TWWWWWW%

(2) WM @R & IR A i olhe M &

| ® m@ﬂﬁﬂhwwwwégaﬁﬁwmm
(@) ST H | B3 A8

MPH/PHD/URS-EE-2020 (Geography) Code-B
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Question ' .
No. Questions
91. | Arrange Pakistan, Nigeria, Indonesia and Brazil in descending order of

their population size :

(1) Brazil-Pakistan-Indonesia-Nigeria
(2) Nigeria-Pakistan-Indonesia-Brazil
3) Indonesia-Pakistan-Nigeria-Brazil
(4) Pakistan-Indonesia-Brazil-Nigeria
T JERyd HIR ¢

(@) “EARET-aRRR-gvERRE AT

(3) AR TIRAE- TR Ff

(4)  TIREIT-§USIART- SISt TR A

92.

Arrange USA, China, Brazil and Canada in descending order of their
geographical area :

(1) USA-China-Brazil-Canada

@) Canada-Chin‘a-Brazil-USA

(3) China-USA-Brezil-Canada

(4) Canada-China-USA-Bragil

JuE ., o, mwmﬁmﬁmmammﬁmmu
(1) 3.T9.q.-HN- STohe- IS

(2) FHTSI-EH-Sof-4.UH T,

(3) EIFT-Y.TH.U.-SITSfIT-1ET

(4) FET-E-Y.T.C.- SR

MPH/PHD/URS-EE-2020 (Geography) dee—B
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Question & R : .
No. , ; o Ques_tlons

93. | Which among the fdllovﬁﬁg do not associated with social area analysis :

| 1) Mackenzie (2) Burgess
(8 Turner | (4) Wirth
mﬁmﬁﬁaﬁwmaﬂﬁaﬁwﬁmaﬁ%
(1) A=t @) T4
@) T 4) fadf

94. | Identify the wrong Match of the following islands :

Old name New name :
(1) South Sentinel IsIand —  RaniDurgavati Dweep
(2) HavlocIsland ~  Swaraj Dweep
(3) RossIsland : ~  Netaji Subhas Chandra Bose Dweep
(4) Neil Island Shaheed Dweep
PR 2 a1 T g I
(1) o Ao dn Ly wﬁ gvﬁa?ﬁa"m
| @ & s du - @ Y |
(3) I v Cailie — el gy o 99 &g
@ . 'aﬁtr | ~ % dy

95. : Wthh two of the followmg Islands are divided by Ten degree channel ?
| O Car Nicobar and Little Andaman

(2) Little Andaman and South Andaman

3) Middle Andaman and South Andaman :

(4) North Andaman and Middle Andaman
ﬁﬂﬁr@aﬁ@ﬂﬂﬁéﬁmmﬁ%ﬁﬁmﬁmﬁaaﬁﬁ? i

1) mﬁaﬂarramagmﬁ (Z)HQGT“EHHWWWW

(3) WWWWW@)WWWWW

MPHIPHDIURS—EE—-2020 (Geography) Code-B
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§it,ion ' | 'Questions
96. | Match the following states of India according to their geographical area ir
square kilometer :
A B
a Manipur i 29897
b Meghélaya il 22,429'
¢ Nagaland -  § 91681
d Mizoram iv 16,579
Codes:
(1) a-iv, b-ii, c-ii, d-i @) a-ii, biv, c-i, d-iii
() a-, b-ii, c-iv, d-iii (@) a-iii, b, c-ii, deiv .
T 3 e T g o e F o e 8 S o v -
& | g |

KE i 92,397
(@) e i 922,429
(1) s L i AN
(7) i | iv 16,579
A CR g
(1) F-iv, Geiif, T-ii, G-i @) F-ii; Geiv, T, G
@) B4, Wi, v, ma @ Foill, e, T, Gy

MPH/PHD/URS-EE-2020 (Geogr?sg)hy) Code-B
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uestion
No.

Questions

97.

Match List-I with List-IT and select the correct answer using the codes /i

given below the lis
List-I
Rivers
Brahmaputra
Yamuna
Narmada
Cauvery
Codes:

A B
D) G i)

= S B - . B 3

SCAB R TR

@ Gv) (i)
@ @ (i1)

@-Ia%qﬁ-ll_ﬁgﬁhaﬂﬁﬁﬁﬁmﬁ%ﬁ%:ﬂ%mqﬁwwmgaéw :
gy : ‘ ’ '

TEl-I
AR
(%) sEgr
(@) @
(1)
(@) a3
-
® (@)
-G G
@ G) (i)
@ Gv) (i)
@ @ (ii)

£

(ii)

(iii)

[

(0
()
(i)
(iif)

@)

List-IT
Tributaries
(i) Hiran
(ii) Dibang
(i) Sind
(iv) Shimsa

D
@iv)
(iv)

(iv)

I
@ RBw
(@) Refr
(iii) Ry
(iv) R

(%)
(iv)
@(iv)
@

(iv)

MPH/PHD/URS-EE-2030 (Geography) Code
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No. Questions
98. | Assertion (A) Laterite soils are generally red in color

Reason (R) Laterite soils are rich in oxides of iron

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not the correct explanation of A

(8) Aistruebut R is false

(4) Aisfalse but R is true

IR (o7) Rexige TaT o aR W a1 @ B
PR (%) W FaT e & Slfearel § T ol 2

(1) o1 @ % A1 | & olX &, F T A &
(2) o 1 % AN wE ¥ AN B, o B A A 8
(8) & Wl B WY & W ©

(4) 9 T 8 WY F 68 8

99.

Consider the following statements :

Assertion (A) The Plateau of Peninsular India is fringed with narrow coastal
lowlands

Reason (R) Raised beaches and waves cut platforms above the high water
mark signify that these lowlands are essentially the emerged floors of the
seas adjacent to the land

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R dre correct and R is not the correct explanation of A
(3) AistruebutR is false

(4) A is false but Ris true

frefoie ol WX R &%

R (&7) TEENE IR # TR He o &6 @ RRy gan @

FROT (%) IN G TR T T o3 I o forg & HW Qewh B Fred § it .
T & 8 WE &9 oTarda: g @ Free wE $ I gT A §

(1) & a % a0 W& § AN F, F 6 T A 8

(2) & T % A e § AN F, A HI WO A A 8

@) & w8 ITg F W &

(4) o T 8 WY F el 8
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Questions

No.

100. | Match the List-I with List-IT and select the correct answer using the
codes given below lists :

List-I List-IT
Mountains/Ranges Peaks
A Himalaya () Sagarmatha
B Aravallj (ii) Doda Beta
C Satpura (iiiy Dhupgarh
D Nilgiri (iv) Mt. Abu
Codes

O O @ @ 6

@ ™ @@ @)

@) @ 6. @ @iv)

@ O v G @
@-Ia%@-llﬁgﬁﬁa#ﬁqm@ﬁ%%ﬁﬁﬁ%rwmgwaw
L

- TE-IT
EERP O e
(?) @ W
(TST) ‘ (11) Sier a7
(1) g (i) qure
() o (iv) T a1y
%

® @ @ @
O O 6@ @ a
@ Gv) @) @
@ @ @ @ a
@ O @ @) @
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SET—“X”

(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU ARE ASKED TO DO SO)

(MPH/PHD/URS-EE-2020)
GEOGRAPHY < o 10007
Code ‘ :
Time : 1% Hours Total Questions : 100 Max. Marks : 100

Roll No. (in figure) (in words)
Name : ‘ Father’s Name :
Mother’s Name : Date of Examination :

(Signature of the candidate) . - (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/

INSTRUCTIONS BEFORE STARTING THE QUESTION PAPER.

1. All questions are compulsory:.

2. The candidates must return the Question book-let as well as OMR
answer-sheet to the Invigilator concerned before leaving the Examination Hall,
failing which a case of use of unfair-means / mis-behaviour will be reglstered_ LCh
against him / her, in addition to lodging of an FIR with the police. Further :- \yfé‘
answer-sheet of such a candidate will not be evaluated. ‘§ g~

3. Keepmg in view the transparency of the examination system, carbonless Ol\/: 15 ol m\ K
Sheet is provided to the candidate so that a copy of OMR Sheet may be kept _L k v b
the candidate. LA

4. Question Booklet along with answer key of all the A,B,C and D code will be go % "%Oa@‘} .
uploaded on the university website after the conduct of Entrance Examination. =
In case there is any discrepancy in the Question Booklet/Answer Key, the same
may be brought to the notice of the Controller of Examination in writing/through
E-Mail within 24 hours of uploading the same on the University Website.
Thereafter, no complaint in any case, will be considered.

5. The candidate MUST NOT do any rough work or writing in the OMR Answer-

Sheet. Rough work, if any, may be done in the question book-let itself. Answers
MUST NOT be ticked in the Question book-let.

6. There will be no negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. gﬁe only Black or Blue BALL POINT PEN of good quality in the OMR Answer-

eet.

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES SHOULD
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE
BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
NOT BE ENTERTAINED 30 MINUTES AFTER STARTING OF THE
EXAMINATION.
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- Code~C

Question
No.

Questions

In nearest neighbor analysis R value varies between 0 to 2.16 Which value
of R represent the maximum aggregation of all points(settlements).

@ o | @ Otol

® 1215 @) 215
mmﬁmaqﬁoﬁzmmqﬁaﬁam%mmm—mmw
Regel (Rewiten) 3 Al wheor 9t Frafis o 8 7

1 o (2 Otol

@) 1215 @) 216

Wh1ch one of the following method is used to measure mequahty R

(1) Weaver method (2) Chisquare test
(8) Lorenz curve (4) Doi method
eI & & - R &1 STl ST & I & R B § 2
(1) @ Ry @) = 7w
(3) W T @) R |
Which one is not network analysis method ? ‘
(1) Alphaindex (2) Gamma index
(3 Etaindex (4) Satty iridex
PA-W e feow Ry 7@ & ?

(1) oFH G 2) T T

@) T gEHE @ ¥ g
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Q“§9:i° ' ' : Questions

4. | Which one of the following is Cyclomatic number formula of network

analysis? |
(1) E-Vip2 @ Ep+V
@ E-V+p @) PE+V
R § @ AU Fead R @ aEEAE s W R 7
(1) E-Vip2 @ E-p+V
' (3) E-V+p @ PEAV

5. | Which one of the scholar do not assoclated with Prmcmal component

analysis ? |

(1) Mooser #nd Scott (2) Thompson
(3) Soja e ‘(4)' Morrison
m-wmmmﬁﬁw%mmaﬁé?
(1) TR @I (2) aras

@ @ e

|
1 6. | Which one of the following is not sampling method ?

| (1) Stratified ' @ Rendom
@) Pl‘ObabﬂJty @ Dual gystem method
| R 7 @ A P R 8 # 7
| 1) @ R
| (8) SRR @) et o Bl

| MPH/PHD/URS-EE-2020 (Geography) Code-C
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Code-C

‘ Q“ﬁ’:i"” " Questions

7. | Which one of thé follovs}ing do. nbt reflect the types of correlation ?
(1) Positive or negative correlation | |

1@ ﬁorhnal correlation

(3) Partial correlation

(4) Linear or non-linear correlation
ﬁqﬁf@ﬂﬁﬁaﬁﬂﬂw%wﬁﬂﬁam%?

(1) ST A RO T

(2) e e

(3) i wEwg

| @ e @ tew ww

8 Which 6rié vis aésoéihféd w1th tﬁe ﬁée of t-test ?
(1) When sample size is 30 or less
»(2) When sample gize is 30 40
@) When sample size is 40-50
(4) None of the abt)ve
ﬂﬂ-mft—m"l%mﬁh%mm%?
(1) = frest oTER 30 A ¥
| @ = Prest o 30-40 &
@) i freet SR 40-50 B -
(@) o A

4'MPHIPHDIURS—EE-2020 (Geography) Code-C
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Question
No. _

Questions

W'hat is a null hypothesis ?
(1) That there is significant difference between specified populations

) (2) That thereisno significant difference between specified populations,

any observed difference being due to sampling or experimental error

(3) It does not specify any relation between specified populations

(4) None of the above

T T 08 7

(1) a8 R i srdenet & 9 @ wE SRR R

@ %ﬁﬁﬁwm@@%maﬁimww%#mwmshm
FaTEE IR B R B

@) T Fte et & 99 9 T Rt @ S

(@) ST T ¥ FE T

10.

Which of the following reflect the significance of normal distribution ?

1) To approximate of “fit” a distribution of measurement under certain
conditions :

(2) To approximate the binomial distribution and other discrete of
continuous probability S

(3) Toapproximate the distribution oi" means and certain 6thers quantities
calculated fromi samples, especially large samples

(4) All the above ey o

Prefiiar % & - ST BT 9w @ adfer 8

® P g & st T @ P ¥ ‘oo $ SRet 3 R _

® mm%mmm'm%mmww#m
% wen & R |

@) Ik R R R R
g & R B Hi

(4) aqﬂzra all
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- Questions

11.

Select the correct statement of the following :

The barrel shape age sex pyramid diagram reflects the populatmn
characteristics of which type of country ?

(1) Developed country (2) Moderately developed
(3) Developing country (4) Very poor country |
Prafefed & & w8 F99 B g ¢

mtwmm-mmmmmm%mﬁ oA @ Rl @
gt ® 7 '

12,

1) Rl 3 @) ww R

@) Pwwdha 3w (4) w5 Frd 3

Which is the ‘predominant French speaking province in Canada ?
(1) Ontario ' (2) Manitoba

(3) Quebec (4) Alberta

H-a1 FE F wE a A g & 7 :

1) s=RA 2 A

@) D @) o

13.

Which area (Borough in London is predominantly inhabited by South
Asians? ;
(1) New Helm (2) Westminister

(3) Greenwich (4) Southwark

queT § -3 49 (TR) & ger v A e vt P w8 7
(1) | Q) =R

3) R (4) WO

MPH/PHD/URS-EE-2020 (Geography) Code-C
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h“&o_m‘ ‘ | Questions

14. | A person of mixed European and Indians in Latin America is called a'.
(1) Mulatto '

(2) Mestizo

(3) Meiji

(4) MauMau i ‘

4 ot 3 qAda qor 0T R AR AR

W o ] , |

2 A

| @

4 "W

|  15. Which of the following is the subraoe. of Caucasoid race ?
- (1) Mediberraneah ’ v ‘

1 (20 Negrito

| ) Eskimo

| ' e (4) None of the above \

| | P @ B o aEs o H e ¥ ?

| ‘ 1) AR

| @

| @ T

(@) o ¥ § A @
MPH/PHD/URS-EE-2020 (Geog'r::g)hy) Code-C




Code-C

Quﬁsgon Questions
16. | Match the List-I with List-II and select the correct answer using the
codes given below the lists : - :
List-I List-II
Old name of River New name of River

A. Sutudri @) Jhelum

B. Asikni (i) Chenab

C. Parusani (iii) Ravi

D. Vltasta (iv) Sutlej

Codes:

A B C D

1) Gv) @) @ @)

@ Gv) @ G @

@ G G @ )

@ G @) G O :
| @-Iﬁ@-ll%g&hﬂﬁhqm@ﬁ%ﬂ%mﬁ@mmmgwa '
it :

- g q\ih-n

& B Q@ A & ™

(%) 93 s @) s :

(7) sfefm (i) =

(m) g D O

(@) femar o oo (iv) gt

RGeS el L

® @& @ @

1 Gv) G @ G

@ Gv) G) G 6

@ @ @ @O @)

@ ()  Gi) Gv) @
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No. Questions
17. | Match the List-I with List-II and select the correct answer using the

codes given below the lists :

~ List-I List-II
Work ' Name of Scholar
A. Radicalism @) Julain Wol;mrt
B. Behavioralism (i) William Bunge
C Positivism (i) Ley and Mills
D. Post modermsm  (iv) Auguste Comte
Codes: '

5 per gl

@ Gv @ & @

@ Gv) @ @) O

@ G G vy

@ G) O @ M e
@.n'a\@.na@mmmgﬁm%m&mw@mmmgw

I g

TR g

R P @
%) & Q) ot drare
w) RRREfE (i) Tafvem @
() 5 ; (i) ¥ T B
(@) dewRm () AR HR

e i o
® @ @ ©

O @ O

@ G @ GG o

o @ © @

@a@ O G @
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: Q“I‘:Ts:i“ Questions
18.

Match the List-I with Llst-II and select the correct answer usmg the e
codes glven below the hsts :

List-I List-II
- "'Books , Authors
A. Nature of geography (i) LR. Heartshorne
B. A Geographical introduc- (i) L. Febvre
~ tion to history :
C. Human geography (i) R.H. Stoddard
D. Geography in the (iv) G. Taylor
twentieth century ' ‘ '
| Codes : %
A B Comsh
Q) @ G Gv) G
@ @ @ G G .
@ G @ @ .G
@ @ Gv) () G

@-Iﬂ@-ll%mgﬁmﬂmwm%ﬁ%mw@ﬂwmgq
uﬂ’rmgﬁq , .

gL I |
I G T
(®) Tl PR (1) TSI, B
(@) © Rrimfer e g REd () . o= '
() PR (iii) oTe.0E. @i
(w) Rraw e aa-aaw g0 (v W
% L |
@ @ (’T) ()
M 6 @ G G
@ O . @ @) G
@ @ @ @O @)
@ @ Gv @) G
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Quésﬁons

19.

| Which of the following approach truly explain the statement “Man is a
" | product of the earth’s surface....” ' |

(1) Environmental Determinism
2 Beha‘wourahsm
3) Possibilism

(4 Socialism

P SUPE & & PH-T1 H mwﬁmm@w% ..... LR
e § 7 |

1) Wiy Feors (2) FEER
@) HAEER (@) EiEE

20,

Whlch of the following is not objective of the behavwral approach ?

(1) To define the cogmtlve environment which determme the declslon-
makmg process '

(2) Togenerate primary data about human behavlor

(3) To adopt 1nterd1sc1phnary approach for fhem'y building and problem
golving :

(4) None of the above
mmﬁam-mmmmmam?

(1) WWﬁMW@WWWﬂﬁWW%
@ wm%ﬁﬁmmﬁmm

€) mmmmwmagmﬁmmm
) Gtrﬂﬁﬁéiﬁiﬂﬁ
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Question
No.

Questions

21.

Ai'rangg Pakistan, Nigeria, Indonesia and Brazil in descending order of
their population size :

1) Brazil-Pak.istan-Indonééia-Nigeria
(2) Nigeria-Pakistan-Indonesia-Brazil
(3) Indonesia-Pakistan-Nigeria-Brazil
(4) Pakistan-Indonesia-Brazil-Nigeria
¥ sERad HiT ¢ |

(1) ST ge SRR Arga T

(@) ARG TR FrER-aTee

() 5“3.@'3"“'Wﬂmrm

(4) RS RS- TS

22.

Arrange USA, China, Brazﬂ and Canada in descending order of their
geographical area : :

(1) USA-China-Brazil-Canada

2 Canada-China—Brazﬂ-USA

(3) China-USA- Brale-Canada

4) Canada-Chma USA-Brazil

7@ T, 9N, mmmﬁmmmammﬁmmn
(1) Y.U9.C.-HH-Sf-FAST i |
@) FE-A-AA-G, T T

(3) -7 T SISl

(4) FE-HH-L.TEC. i

MPH/PHD/URS—EE—2020 (Geography) CodeC
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Questioni
No.

Questions

28. | Which among the following do not associated with social area analysis:

(3) Ross Island
(4) Neil Island

QT
1) =R AR &9
(2) ¥ &9
@ Ua &
@) s du

Rreffa 20 &1 T GaW e

(1) Mackenzie (2) Burgess
@) Turner o (4) Wirth <
mmaawmmmﬁﬁwamqaz '
O ¥ ' @) T
(3) TR (4
24, | Ideptify the wrong Matcﬁof the following islands :
Old name » B New name '
(1) South Ser;xtin,el}sland_ ~ RaniDurgavati Dweep
2) Havleclsland = ° -~ Swaraj Dweep

Netaji Subhas Chandra Bose Dweep '
Shaheed Dweep

LU ]

o g &9
e d

Yot g o 99 A9

R

95. | Which two of the fpﬂowing {élands are divided by Ten degree channel ?
(1) Car Nicobarand Little Andaman |

) Little Andaman and South Aridaman

{ (3 Middle Andaman and South Andaman

(4) North Andaman and Middle Andaman, ‘
ﬁﬂﬁf@ﬂﬁﬁﬂﬁ#?{@qm%ﬁaﬂﬂmmﬂa§?

(1) FR PEER o T FUEH (2) g ST T R S

) *mmw.mm()mmwm'm

o TST/PHD/URS-EE-2020 (Geography) Code-C
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Questions

26.

Question
No.
Match the following states of India according to their geographical area in

square kilometer :

A B
a  Manipur i 22,327 |
b Méghalaya i 22429 i
. Nagaland : i 21,081
d Mizoram iv 16,679
Codes: |
@ i s, vl i @ i, b, o, deidi
(3) a-i, b-ii, c-iv, diii @) a-iii_.‘ b, c-i, d-iv

o & Pl T @ g @ Rie 3 o iR A $ SIgER AR

| _ q

(%) Py . DR G i

@ wwww i 22,429

o e 21,081

@ @ v 1657

e ‘

(1)  ®-iv, @-iii, -, g1 Q) %-ii, G-iv, i, G-iii
@) T, Wi, Ty, T @) T, T, T, T

MPH/PHD/URS-EE-2020 (Geography). Code-C
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‘ Q“ﬁ’:fm , Questions
97. | Match List-I with List-II and select the correct answer using the codes
given below the list :
List-I , List-I1
Rivers ~ Tributaries
A Brahmaputra (i) Hiran
B Yamuna (i) Dibang
C Narmada (iti) Sind
D Cauvery (iv) Shimsa
Codes: _ '
A B C D
(1) @ G @ Gv)
% " (2) @) @) @ @)
1 ® @ @ @ 0
¥ | @ G G G G 8
L , '@.m@.nagammam@ﬁam@mmmngm |
T g
AR - weErE TRt
o) 0 e
(@) g @) Rt
| () i (i) R
(@) F0 @) B
%< -

® @ 0 ®
M @ @ O
@ 6@ @ O
@ G @ @ O
oo @ @ @

MPHIPHDIURS—EE—2020 (Goography) CodeC
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Q“§’£° Questions

98. | Assertion (A) Laterite soils are generally red in color
Reason (R) Laterite soils are rich in oxides of iron

(1) Both A and R are correct and R is the correct explénati,dn of A
(2) Both A and R are correct and R is not the correct explanation of A

(3) Ais true but Ris false

(4) Aisfalse but R is true

| sttt () Sevme Ta SRR WA B A @
m(m)mwm-%mﬁmaﬁ%

) o a F A ol ¥ AR 5, 9 9 ud e §
) & T % O o ¥ R, o R wd e @R
@) @ u@ ¥ g B T ‘

@ ATAERGH AR

29. | Consider the following statements : ‘

| Assertion (A) The Plateau of Peninsular India is fringed with narrow coastal
lowlands | ut

Reason (R) Raised beaches and waves cut platforms above the high water
mark signify that these lowlands are essentially the emerged floors of the
seas adjacent to the land ) ‘

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct and R is not the correct explanation of A
(3) Aistruebut Ris false :

(4) Ais false but R is true

Frafifea w9 W RER & |
W(@)mwmmmmaﬁéthvgm%

w(m)mgq.wwwaﬁﬁmﬁﬁ%wwaﬁm%ﬁﬁ
m%ﬁswm%ﬂmﬁaﬁa@%mwaaw%gqaaﬁ
) o T F A ¥ AR @ AR e ‘
@ & o v ¥ AR, o B w e R

@) ARG F WA E

@) & e ¥ WY F D E

MPH/PHD/URS-EE-2020 (G-’e"og"ra%hy) Code-C
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No.

Questions -

30.

Match the List-I with List-II and select the correct answer using the
codes given below lists :

List-I : List-1I
Mountains/Ranges Peaks
A Himalaya (i) Sagarmatha
B  Aravalli (i) Doda Beta
C . Satpura : (iii) Dhupgarh
‘D Nilgiri : (iv) Mt.Abu -
Codes:

Ao

@ ® @ @@ G

@ @) @) @ O
@ G G @ G
@ @ (v) @) @)

f gﬁfn;m@.nagammwmmaﬁqmmmgqaam

Suic S TH-II
(%) R - @) wER,
(@) - G Swr
() weager (i) 9P
(Er) ot ‘ (iv) AT A
ﬁ 2 A

® & @ @

) O @ G )
1@ v @) @ @

@ @) @ O G
(4) @ Gv @) @)

MPHIPHD/URS—EEJ—2020 (Geography) Code-C
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31. | Which one of the following feature is not created by underground water ?
(1) Hums | (2 Uvala ‘
| @B Polge : | (4) Albs :
Frafofee & & aF-8 R s o g fffe w8 8 2
1 & (2) & |
@ 9 | @ g
* 32. | When one block rides over the other block, it is called as :
(1) Normalfault = (2) Overthrust fault
(3) Thrustfault @ (4) Slipfault
9 UF GUS @ @Y F HW g 8, Ol 98 Fecen & ¢
(1) 9= " | Q) @Y dw
(3) &9 HA ; (4) Qv dq
33. | When two limbs are so much inclined that they appear to be parallel, what
is the process called ? : :
(1) Symmetrical folds (2) Monoclinical folds
(3) Isoclinal folds " (4) Recumbent folds
T A o T gR Y Br 3 wion Rt 3 ¥ A 9w b 0 B 7
(1) TPy T () T T |
@ g aTE . (@) e
34. | Which one of the following is not the erosional feature of glacier ?
(1) Roche Mountain 2) Arete
(3) Paternoster lakes (4) Dreikanter
fFrafifed # @ F-41 Reve @ ervesy fadvar w8 & 2
(1) I , . (2 e
(8) Y= o @) FEI

MPH/PHD/URS-EE-2020 (Geography) Code-C
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Code-C
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Questior ' Questions

codes given below the lists
List-I -
Types of Delta
Arcuate
- Bird’s foot
Estuarine
Abandoned

Codes:

oowp

@ ¢ @ G
@ G @ @ O
@ @ O G @@
@ o (v @@ G

@ @ @) v @
@ @ O @ @

R e

@ @ @ @
O @G

@0 @ @ @

List-II
River
® Mississippi
(i) Yellow
(i) Nile
(iv) Houdson

35. | Match the List-I with List-II and select the correct answer using the

NTPT/PHD/URS-EE-2020 (Geography) Code-C
: gl




Questions

86. | Match the List-I with Liét-ﬂ and sélect the correct answer using the
codes given below the lists

List-I List-II
' A. Plutonic rock (1) Basalt
B. Volcanic rock (11) Geneiss
C. Sedimentary rock (iii) Sandstone
D. Metamorphlc rock (iv) Granite
Codes:

' A B Ul
WGy @ e @
@ a) o O 2
@ @ ) @ O |
@G O ) G .
-1 & g1 %m@mmw@ﬂ%mﬁmm@wmm

QT I H TG AT - |
oo g1

(%) @ & O e

(@) wwmea d@ G T

() omwrdtdw (i) ST T

(@) FmioRe 48 (i) Imee

=
Tw @ 0@
H @ @) G @)
2 G G Gv) @
@ @ Gv) @ @
@ G @ ) @)

MPH/PHD/URS—EE—2020 (Geography) Code-C
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87. | Consider the following statements :

Assertion (A) Polar areas sea and oceans have low salinity.

Reason (R) Melting of snow is high in polar areas.

(1) Both A and R are correct and R is the edi‘fi‘,ect explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(3 Ais true but Ris false

(4) Ais false but R is true

Prfifee F @ RER AR

e (of) v & WoR qn TERR A wav 6 ad )
FRO (%) g &t & 9 o Ruen ot & 81

(1) o @ % A af ¥ O %, o A wh AR

@ @ T WY AT o B awen Y
@) @ ¥ g F WA #

4 amaa%wm‘ré’t%

38.

What is the range of temperature for the growth of coral 2
(1) 10to 22 degree centlgrade
(2) 8 to 26 degree centigrade

1@ 18to36 degree"centigra'de

(4) 36 to 40 degree centlgtade
m(m)%m%mmﬁmm%?
(1) 10 22 f&h @die

(2) 8% 26 &k ¥

(3) 18 36 it ke

4) 36@ 40 foh Fe

VMPH/PHD/URS-EE-2020 (Geography) Code-C
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39. | Consider the following statements :

Assertion (A) More than 90% of water vapor in the air lies below an altitude
of about 2000 metres. ' i s

Reasbn (R) The amount of water vapor decreases with altitude

1) | Both A arid R are corréét at;d R is the correct explanation éf A |
@) Both Kt ére correct and R is not correct explangt;idn of A
(35 A A is true but R is f#lse' | |
(4) Aisfalse but R is true’ |

P asvrvﬁ W ﬁarf aﬁﬁm

aREE () 90%aa1ﬁ$mmmgﬁzoooﬁm%mﬁmﬁ%=ﬂ%
witE

@ (%) WW%?WU;W?%WW?)
6)) ammaﬁaﬁ%aﬂw,m%aawfw%
@) a:amasﬁﬁmﬁ%eﬂt‘es @ B wh e W ¢
@) ;aaﬁ%m\%m%
(4),3#11«%@%’@%

MPHIPHDIURS—EE—2020 (Geography) Code-C
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40. Ma‘t_;ch‘ the List-I with List-II and select the correct answer using the

| codes given below the lists

" ListI . ListH
- Winds Country/Region
A. Sirocco (i) Spain
B. Salana @) Tunisia
C.  Khamsin : (iii) Sahara
D. Gibli @dv) Egypt
| Codes:

A B C D
O 6 G G @
@ @G @ v @
@ G @ Gv) G
@ Gv) @ G) @
-1 9 -1 %m@mmmm%mmw@mwm :

gT T8 ST H T4 BRI <
- A -1
W /8
) Reder G &
@ wm G TR
(M) wmRw (1if) TERT
(a) Prcht (iv) fag
| R

@ @ @ @
W @ @ @ @
@ @ @ @ 0

1@ G O @ @
@ @& @) G
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No.

Questions

41.

Whlch one of the following represent the Frontler ?

(1) It is a line between two nations'

(2) Itis a separating factor and has no life existence

(3) Itis a zone bigtween two political units and has scope for mteractlon
(4) None of the above '
ﬁwﬁf@ﬂﬁéﬂﬁﬂ-ﬂrmiﬁtﬁ‘éﬂﬁw%?

1) AWM @XM E

@) wwmm%msﬂﬁsﬂaﬂww@m

&) ﬁammmﬁ%aa@aﬂ%w%aﬁmmagm%
@) mzﬁﬁ%raaévra’f

42,

Who said the following statement “Whosoever rules the Rimland, rules
Eurasia, Whosoever rules the Eurasia, rules tﬁe .destiny of the world” ?
(1) Mackinder '

(2) A.T.Mahan

(3) Spykman

(4) Machiavelli

ﬁﬂﬁrﬁaﬂwaﬁmﬁm“ﬁrﬁﬂnﬂ@wwm% mwwm%
ﬁﬁ@ﬁmwmm%,azgﬁma&mﬁﬁmmm%ﬁ?
ey | _ , £

@ T e

@) AT

@ Seaieh
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stion Questions

48. | Which are the member states of Quad ?
(1) India-Britain-USA-France

(@) India-USA-Japan-Britain

(3) India-USA-Japan-France

(4) India-USA-Japan-Australia

TS FWEIIWMPITAE?

(1) TRa-fRN-guaT-HE

(2) RT-guaC-aE- R

(3) HRA-YUHC-SIH-5Hi

(4) RG-SR

44. | Consider the following statements ; _

Assertion (A) Exclusive Economic Zone is a coastal sea zone on which a
country has exclusive rights to use resources

Reason (R) India has EEZ upto 12 nautlcal mﬂes in Ind1an Ocean from
| its coast

(1) Both A and R are correct and R is the correct explanatlon of A

| @ Both A and R are correct and R is not the correct eXplanatlon of A
(3 Aistruebut R is falge

| @ AisfalsebutRis true

fFrfofee oMt W RER Fif

| SR (& )mm%@mmaﬂ%mwmmmma
ST F & R e @ B

FRT (%) ARG 36 7€ A B w@wrr 7 12 R 49 7% EEZ

(1) o 7 % AT TS ¥R T, 7R wd e

@) mmmaﬁruﬁ%aﬂw maﬁaﬁmﬁ%

@) oW e U P W R

@) TR W F AR

MPH/PHD/URS-EE-2020 (Geography) Code-C
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45.

Ruestion : ' 2
Ne. Questions i
What is Sagarmala project ?

(1) Sagarmalaisa prOJect to develop transport and trade lnfrastructure
along the coast of India such as road, railway and ports. ‘
(2) Itis aproject that will link all the major Rivers of Indla _

| (3)' Itisa project to mine the Indian Ocean area upto 150000 &q. kms. for

" which Ind1a has got the nghts

(4 None of these

ST QR S R 7

1) mw%aﬁ%m—mwﬁwwmﬁm,mw
wﬁf%ﬁw%g@mw%

@) wwm%amﬁwmmam

)] qs@qﬁm%fa*aﬁwooooaﬁm mﬁmﬂw%m
mmm%mmzu |

@ IR Y B

46.

Which of the followmg practice broadly reflect the agriculture

characteristics of south Asia ?

(1) Commercial agriculture (2) Plantation agriculture

(3) Shifting cultivation (4) Subsistence agriculture
ﬁwﬁ@aﬁ@ﬁw—wwaﬁw@mﬁwmaaﬂmm%m%?
(1) " afies Bl ) AT

(3) wERT FHY (4) Frfe BN

MPHIPHD/URS—EE—2020 (Geograpﬁy) Code-C’

(25) -




T

R

Code-C
sti 5 B
Q“§°.°“ Questions

47. | Which of the following is designated as blue color job ?
(1) Researcher (2) Factory worker
(3) Policy makers ‘ (4) Military officer
P # @ B 09 <1 & ot & Req afvie R w8 2
(1) sheepat (2) @ FE
@) i Frer @ & alEd

48. | Which country of region is the habitat of White elephant ?
1) Cyongo basin (2) Amazon basin
(3) Thailand 4) India |
PIF-G1 37 A AT qOT el @ e @ R 7
1) =W R/E (2) T AR
@) R . (@) wiw

~ 49. | Which one of the following explains the Agriculture density ?

(1) Ratio between agriculture population and agriculture area
(2) Ratio between total population and Area

(3) Ratio between total population and cultivated area

(4) Ratio between total population and res;iurces

PrfeRes @ B9-01 BN O B e A S 0

(1) TN e T N % P G o

(2) FW TAHEAT T GG F ST AU

(3) FW THE T A Y%A B T S

(4) TN SEEN T e & @i e

MPH/PHD/URS-EE-2020 (Geography) Code-C
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Question
No.

Questions

50.

Identify the barameter which is Not used ih'thé éonstruction of HDI
by WHO ? s

(1) Adult literaéy- ‘_ (2) Per capita income

(3 InfantMortality Rate - (4) Life expectancy

STt % EEr AR St WHO a1 HDI & feior ¥ sigaa 7 g & 2

651.

52.

[ @) o (@) ol R i

(3 fg T (4) s e

Who gave the concept of Landschafts Kunde ?

(1) Richoffen (2) Ritter |

@ Semple (4) None of the above

AosIRE R B SR e @ ? , 

(1) Reddw G R -

@) (@) S ¥ A B

Who said that exact laws can be made only if man ié excluded from
| geography, because the man’s behavior is highly unpredictable ?

(1) Saur | @ G.Gerald "

3 G.Taglor .. (4) Huntington

ﬁmﬁwﬁsmwaﬁmmm% mmﬁaﬁ@aﬂmwm,

TS Sl 1 SR AE & SR & 7

1) W« ‘ (@ o e

@ & RS NG e
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Code-C

Q“;?” 4 Questions - g \

53. | Match the List-I with List-II and select the correct answer using the
codes given below the lists :

List-I List-II
Instrument Uses
A. Planimetre (@) Tomeasure length or distance on maps
“B. Rotametre (i) To measure area on maps
C. Parallaxbar (iii) To measure elevations of objects from
the photos
D. Pantograph (iv) Enlargement and reduction of maps
Codes: : L :

A B C D

®» O @ G @

@ @ O G G

@ @ @ O

@ ® @ @ @
@-Iﬂ@-llﬁ@mWWW%ﬁ%@nﬁ@ﬂwmgqaé

¥ G
T+ | T-IT
(%) e () FRE W 0 o W Ao $ e
(@) e () RE O e T S R
| (1) ¥ ) L (i) Pt @ gl B S @ W @ R
(@) ¥ (iv) SRR 7 RERT @ qgHT & e
% ’ '

@ @ @ @
W 6O @ G )
@ G O @
@ G) @ O @
@ 6O G @ o

MPH/PHDIURS—EE—-2020 (Geography) Code-C
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Question' :
No. Questions
54. | Which of the following projection is suitable for direction ?

(1) Mercator (2) Polconic otie standard
(3) Bonne’s projection (4) None of the above
e & @ e AT R & R 99 § 7

(1) 7@ . @) e a7 Reed

(3) I FH AT @) e d § P @

55.

Which of the following is the most suitable method to show distribution
pattern of crops ?

(1) Shading method (2) Symbol method

(3) Dot method (4) None of the above
mﬁam-mmﬁwmﬂmﬁ%mmmm%? |
(1) sEiET fay 2) udie Ry

@ 2w R @) TRmAIBE T

56.

Consider the following statements :

Assertion (A) Sinusoidal prOJectlon may be regarded asa mod.lﬁcatxon of
the cylindrical eqmdxstant projection. '

Reason (R) The main hmltatlon bf the cylindrieal prOJectmn is the parallel
scale is exaggerated in it.

(1) Both A and R are correct and R is the correct explanatmn of A

(2) Both A and R are correct and R is not the correct explanatlon of A
(3) Ais true but R is false :

(4) Ais false but R is true

frrfofed Mt W fEm fifg -

e (o )WWﬁmmmwwmﬂwmm

2 |
m(%)mmﬁg@mqa%ﬁsaﬁmﬁmmm%l
(1) & 71 % 3WF §& & R &, o 9 9 e B

2) o a0 F A G ¥ R F 7 B af arew & 2

(@) @ &R g F W 8

1 @ 3 T ¥ g F G R
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codes given below the lists :
List-1

A. Isopleth maps

B. Dot maps

C. Scatter groups

D. Stardiagrams

Codes: ‘
Aol B D

@ G) @ @ )
8 Gi) m ®&
@ @ G @ @

T8 s gT

—

(%) WFT %@u qﬁﬁﬁ

(@) st

(m) SRR
)

(&

T

() @ @ @
loy @ 6@ @ @
@ G O @
@ @ @ O
@0 G 6 o

O 6 6@ @ @

57. | Match the List-I ‘with List-IT and select the correct answer using the

List-1I
() Natural grouping
@) Wind direction : :
(iii) Changes which are relatively gradual

(1v) Populatlon distribution

@-Iﬂ@-llam@mmw@ﬂ%ﬁﬁm@mwmg

gR-II
(6] Wﬂﬁlﬂﬁ
(i) & # R
(iii) S TR& amma A E
(iv) e faa

TPT/PHD/URS BE-2020 (Geography) Code-C - X
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58. | Match the List-I with List-II and select the correct answer usmg the

,@-Iwm@-llmﬁhmm@ﬁf%ﬁmm@wwmgq

-1 , gei-IT
' WA ot &
(%) T @ o
(®) iR R
RS T | - () 300
(a) Tl ‘ - (iv) WRdie
T |

® @ @ @

codes given below the lists :

List-I ; List-IT
Navigation system Country name
A. GLONASS : (i) Chinese
B. Galileo (i) Russian
C. Beidou (iii) European
Do NAVIC T (iv) Indian
Codes: ‘

A -B C A
MmO @ G @) o
@ 6 - @ ) @
@ @ @ O @

CRVERER S T
@ @ 6 @) &

@ @ G @ )

@60 @ @ @

MPH/PHD/URS—EE-2020 (Geography) Code-C -
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59. | Match the List-I with List-II and select the correct answer using t

codes given below the lists :

List-I List-II

Satellite Spatial resolution
RISAT (@ 256m

Cartosat 2 (if) 40km x60km

gcowp

Megha tropics ' (iif) <2 m to 50 m
IRS P5 @iv) <1m
Codes

A B C D
OO @ @ @
@ G @ @
@ G G @ O
@ 6 @ @ G
@-Iﬂ@-ll%mmaﬂmwm%ﬁmm@mm“w
& T gHT ¢

-1 TR ! @.n bl
() e G 2.5%
(@) w2 (@) 40 Reh. x 60 R
(1) A SR i) <2 RA 50 A.
(1) o o W & 6 Goy<1 .
ﬁE: e

® @ @M @
®» O @ G @
@ @ O @
@ @ G @ O
@ O @ @
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Question

No. .‘ Questions
60. | Which of the following is the wavelength range of the visible light ?

(1) 750nm-400nm - (2 2.5 uym - 750 nm

3) 25 um-2.5 pm (49) 1mm—25um

freffee & & A9-81 g0 W6 F GO WE 8 7

1) 750F7A.-400%A. . (2) 2.5 7507,
¢ (3) 25ptﬁ 25 it o (4) 1 ff. — 25p .

61

What is the share of agnculture sector in total workforce of Indla as per
NSSO report upto June 20182 |

(1) More than 60% but less than 70%
(2) More than 50% but legs than 60%
(3) More than 556% but less than 60%
(4) More than 70%

v';ga2018%Nssomé%a3aﬂm%§amaaﬁ?@haawmm

(1) 60% ¥ 3t Ty 70% R F (2) 50% { e Ty 60% {
) 5% R ot Ty 60% AT (4) T0% AT

62,

Which one of the following is an example of “Prorupt” shape countries ?
(1) Myanmar (2) Nepal (3) Canada (4 Fiji
fFrfifea & & dF-a1 ‘IR SR W B TR P

(1) =R (2), U™ (8) wet @ Rl

63.

' ‘Who among the following has said that the actxon space ofa regional planner|

consist of trinity of Place; Folk and Work ?. -
(1) EW.Burgess = (2 d. Fnedniann 1
(3) Patrick Geddes” - " * (4) R. J. Johnston

mﬁamm%w@mqummﬁm%mm’
ammsmﬁ .

M imm @ & wett

© WEwEw. @) . ¥ deT
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64.

Which one of the followmg has NOT proposed planmng regions scheme fo;
India ?

(1) P.Sen Gupta (2) Gosal

(® V.L.S. Prakasa Rao (4) V.Nath
ﬁwﬁr@#%ﬁw—mm%ﬁmﬁﬁmﬁmmmaﬁ%
(1) {7 = ()

3 aﬁ.qa.mmsr zrq' @ ¢ m

65.

Which one of the following planning region of India was not propoesed by
C.S. Chandershekharan ? '

(1) Punjab region @ Aravalh' region

(8) Ganga Yamuna plai‘n (4) South Peninsular region
mﬁﬁwéﬂw—mﬁﬁmﬁﬂﬁmm aﬁﬂ@ﬁ%mﬁaﬂﬁm
(1) o & : 2) saeh &3 |

@) - A @ R adg Ed

66.

Which one of the followmg represent the third stage in Rostow 8 model of
economic growth ?

(1) Drive to matunty @ High,masg_congumption s e

(3) Take off stage ‘ (4) None of the above ‘ ‘
m@aﬁﬁﬂ%—maﬂmﬁm%ﬂ@a%mﬂmaﬁwﬁmw
g7

M IRy 8 dem @ = e g

() T TR (4)@%%3%%%%
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Eﬁtﬂd | Quest?ops |
67. | Match the List-I and List-II and éelect the correct answer using the codes

| @) g g wm ) wed

fo . .60 @ @

| B W S A A :
g1 D -1
R /ST | R
(%) gﬁwwwﬁﬂ%maﬁaﬁrmm G =&
AR _- ) TR fista

given below the lists

List-1 List-IT

Ideas/concepts ' Scholar
A. Polarization and trickle down effects (i) Hirchmann
B. Centre-perophery (i) GunarMyrdal
C. Growth Pole - (i) JR. Fnedmann
D. . Circular and cumulative causation Gv) F. Perroux
Codes Ay

Ry B G v

O @ . (i)
@ @ @ W @
@ @ G @ (1)

-1 g %m@mmwmammm@amm

7)o g @) e

O q

(6)) @)  Gv) (i) |

@ @ ™ 0 e
@) @Gv) (D) ® I
__(1) 3 (iV), : (m) (i)

EE—2020 (Geogra:;;hy) Code-C ,
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§:ﬁ°“ | - Questions'

68. | Which one of the follovﬁn_g corresponded tﬁ-t\he third stage of Penck’s
| model ? , =

(1) The deepening of valley slow down. The height of interfluves begin to
decrease '

(2) The rate of down cutting of valley is less than that of upliftment

(3 The rate of down cutting is equal to the rate of upliftment

(49 None of the above

mﬁﬁﬂ?ﬂ%%m%mm%m%?

1@ m%wwwmmammaﬁaﬁm'%m

@ Wb R A g A

@) STHRT N T W g B Wi qw 0

@ SR AIM |

69. | Who said that in old stage of river the whole block of land looks like the
‘Peneplain”? = i S -

(1) Penck.

) Davis
(9 King
4 Crickmay e
. mmﬁmaﬁmmmﬁmg«m'ﬁwmma? |
(1) T ' < |
() 3w

(3 fom

4) P

MPH/PHD/URS-EE-2030 (Geography) Code-C
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NG, Questions
70. | Name the process when “The fragments of rocks move forward by jumping

contmuously”
1) Saltat;lon

(2) Traction'
3) Susj)ension

mﬂmw@mm%gﬁ%mmmmi?
(1) s

@ SR
@) T
(4) s

1.

Consider the following statements :
Assertion (A) Horse latitudes are found between 16 degree to 26 degree
latltudes in both the hemlspheres

| Reasbn (R) The calm condltlons and low pressure are found in horse latitudes

(1) Both A and R are correct and R'is the correct explanation of A
(2) Both A and R are correct and R is not correct explanation of A
(3) AistruebutR is false

| (4) Both A and R are false

R FoAr o B S 0

v (37) aﬁrﬁaﬁﬁlsmazsmﬁm%aﬁammmaﬁal
FT (%) #fel orielt W i oRRefy on B www W oA ¥

(1) & a0 % AN T ¥ R %, 7 A e e

@ & T F W e ¥ IRF, 9N T qew ;Y

@) & §& 3967 F T & ‘

,(4) QWQSWW%

MPHIPHD/URS—EE—2020 (Geography) Code-C
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| 72. | Match the List-I with List-II and select the correct answer usmg the |
codes given below the lists

List-I List-II
A. Steam fog (@) Due to cooling of the ground and adjacent air
B. Frontal fog @i Duetodropin temperature during horizontal | .

\ movement of air
C. Radiation fog (iii) Formed at the boundary of cold and warm air

; i masses

D. Advection fog @iv) When cold air moves from land over ccean
: and evaporatmn of mcusture ' \

Codes : ' :
A B C D
M ¢ G (v 6@
2 @) (iii) v @
@ @) - G Gv) @) ,
@ Gv) G @ @O 9
geii-1 & w11 %mmmmm%mmm@wwm‘

W I A A I
L5 -w.n i 0
(%) wo A @ gﬁmmﬁg%a@aﬁ%w
(@) v dEn ) g N e T D A oA A P @ o

PR AT e, (i) S o v g AR B e

| ) wEmE AR (Gv) TS e § A S e R A o
® @ @ @

@M 6 @ G G

@ @ G v @

@ G O G G
@ @) G) @ @)
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73.

Which type of climatic region has the least range of temperature ?

1@ 4Polar region

2 Equatorial region -
(38) Temperate region

' (4) Tundra region

Y A B R SR AT B @ B B B 7
(1) ghads

Q) EERE A

(3) . i &
@ e

4,

Wluch one of the followmg statements is wrong ?

(1) Noctumal t‘hunderstorms occur in night ‘ .
2) Thermﬂ thunderstorms are produced in the afternoon |
()] Frontal thunderstorms dre produced during morning

(€] Orographw thunderstorms are produced in mountainous areas

ﬁqﬁcf@am#a%-mm%?
4)) Wﬂmﬁmﬁ@%%l
(2)‘Ammwa’imﬁ€ra§|
(3)%%@%%@%%: |
@ mmwmmaﬁﬁaazn

MPH/PHD/URS——EE—2020 (Geography) Code-C
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Q“Ifg'i"“ Question
76. | Which of ‘the following 'z‘are‘true about inversion of temperature ?
(1) Drsrair e @ Clearsky
(’3). ‘Stable weather (4) Alltheabove
W%w%aﬁamaamﬂw%? :
W gFag C @ wmam
1@ Rxdem @ wEe
~ 76. | Consider the following statements :

Assertion (A) According to Farrel's law “The ocean currents tend to be
deflected towards the right hand in the northern hemisphere and towards
left hand in southern hemisphere due to rotation of earth”.

Reason (R) The moving water towards poles reduces the salinity of polar
areas iy 3 :

@ Both A and R are cotrect and R is the correct éxplanation of A

2 Both A and R are correct and R is not correct explanation of A

(3) Aistruebut R is false

| (4 Both A and R are false

Frefafea FuA W REr FIf |
st (3) m%fw%w‘w%w%wwﬂmm
¥ e g A o e o ¥ A a6 o g
(e
T (7) gﬁﬁeﬂrmwwaﬁaﬁmaﬁmmtl

1) CRCER R R R R A

, (2_),ammas€t;ﬁaa§aﬂt$ aa&aﬁmwﬁ%

3) aaﬁ%wmm%
(4) & T F A T B

MPHIPHDIURS—EE—2020 (Geography) Code-C
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Questions

7.

. Which among the foﬂoﬁipg is true about ocean temperature‘;? :

Loh o

(1) . Ocean temperature remain around 25-27 degree in equatorial zone

(2) Tempetature decline towards polar areas in both the hemisphere but
decline is sharper in southern hemisphere i

. "-(3) Both (1) and (2) are true

(4) (1) true (2) is wrong bpgiain
W%W%wﬁmﬁ%m—waﬁ%?

() e & w e 26-27 fEft T ¥

@ 4 el & gl & o S A T g e end 3 e e e
X |

1@ Oa@IMws
| @ M E (@) T

78.

Consider the following statements : ;

Assertion (A) During épring tide earth, moon and sun comes in the same
direction. ‘ |

Reason (R) The sun, the earth and the moon comes in positioned thus
causing low tide. This phenomena is called Neap tide

(1) .Both A and R are correct and R is the correct explanation of A

| 2 _Both"'A and R are correct and R is not correct explanation of A

(3) Aistruebut Ris false
(4) Both AandR are false

Prefiea FaRl W RER BT h
SR (31) qwm%mﬁgﬁ,ﬁmw@@amﬁwaﬁ%
T (F) . @,@memwwmtuwmﬁmmm

o
1) HWEWH’&»‘T%@T%&@@W%
) o q % A qd o F, o B e TR
@) o g Y g F W ¢ -

(@) & T F A WA 8

MPH/PHD/URS-EE-2020 (Geography) Code-C

(41)




No. | Questions
79. | Aral sea is located between .... ?

(1) . Kazakhstan and Turkmenia

(2 Uzbekistan and Turkmenia

(3) Kazakhstan and Uzbekistan
(4) Uzbekistan and Tajikistan
I R R ¥

| @ e g gt & =

(@) SRREE T @Ak & 9"
@) TR T SR § d
(4) SRREEE T FoeE #

80.

Dry adiabatic lapse rate is

(1) 8c°per 300 ascend

(2) 2.5¢° pez; 300 metre ascend
(3) 2¢° per 300 metre ascend o
(4) ; 5c per 300 metre ascend :

, g@ﬁwwu%
(1)"30!@300%33&{

2 2.5c° nﬁ[ 300 e 9%

(3) 2¢ 9fr 300 ex B
,(4). . 1.5c° 5 300 HeT TGH

MPHIPHD/U RS—EE—-2020 (Geography) Code-C
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esﬁim
No.
81. | Match the List-I with List-II a
codes given below lists : :
List-I
Industries
A  Steel
B Newsprint
C Heavy water
D  Ship building
Codes:
A B C
M G G Gy
@ @ @ g
@ @ - G @
@ @ @ G
-I & gefi-I
by
TEil-I
Ce
(%) T
(=) b=
(M) T o
(7) e P
R .
® @
) G G (@)
@ G G @)
@ @ G @)
@ () G ()

List-IT
Location
() Thal
(i) Salem
(iii) Nepa Nagar
(iv) Mazgaon

g
ARy

O wF

() @@
(iii) 7 Fr
(iv) 53T

nd select the correct answer using the

I@WWWW%%@W@WWW@QW
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Code-C

: 82.

T G) o i)

List-I

Theories/Models

A. Migration
B. Primate city
C

Q“ﬁs:i“ Questions
Match the List-I with List-II and select the correct answer ‘using the

| ‘codes given below the lists :

~ - (i)} F.W. Notestein

Population resources

regions

D. Demographic Transition (iv) S.A. Stouffer

Codes:
A B
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Llst-ﬂ
Scholar
@) E.A.Ackerman _

(iii) Mark J eﬁ'erson
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(iii) 91 ST
(iv) T9.0. ®REET
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83. Conmder the followmg statements
Assertion (A) Developmg countries have high rate of stunted chﬂdren

Reason (R) There is ahortage of nounshment especially that of balanced
diet in the developing countries

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct and R is not the correct explanatlon A
| @ Aistrue butR is false

(4) Ais false but R is true

Frfefea et @@ Rar i -
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84. | Match the Llst-I w1th List-II and select the correct answer using the|
codes given below the lists : :

List-I | List-IT
Grasslands  Regions . ‘
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